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The study of the nature of moral standard principles, values and theories is termed as

Behavioural Ethics
Normative Ethics
Applied Ethics
Metaethics
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(3) 3
4) 4
1[Option ID=4201]
2[Option ID=4202]

3[Option ID=4203]
4[Option ID=4204]

Sl. No.2
QBID:182002
Opinion of examiner regarding electronic evidence is admissible under which of the following section of the

Indian Evidence Act, 18727

1. Section 45A
2. Section 49
3. Section 79A
4, Section 149

1 1

@) 2

(3) 3

(4) 4

YR Wed fFam, 1872, B 69 4R & d8d salacH® 180 P R B I AR © 2

1. URT45A
2. YRT 49
3. YT 79A
4. YT 149
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4205]
2[Option ID=4206]

3[Option ID=4207]
4[Option ID=4208]

Sl. No.3
QBID:182003
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Protection of life and personal liberty is provisioned under which of the following article of the Indian
Constitution?

1. Article 19
2. Article 20
3. Article 21
4, Article 22

(1)1

(2) 2

3) 3

(4) 4

YR HIGUH BT S T 354 oiia Bl GR&T AR dulads Waadl &l Wau Hdl 52

1. T4 19
2. 34 20
T4 21
34 22
1
@ 2
@) 3
) a

e L

1[Option ID=4209]
2[Option ID=4210]
3[Option ID=4211]
4[Option ID=4212]
Sl. No.4
QBID:182004

In the year 1953, a Duch Physicist won Nobel Prize for his invention and development of which of the
microscope?

1. Comparison microscope
2. Stereo microscope
3. Phase contrast microscope
4. Scanning electron microscope
1
(2) 2
3) 3
(4) 4
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1. JeTeTs garaxi
2. fan-gemeff
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4. T I goia - gerasl
@1
@ 2
3) 3
@ 4

1[Option ID=4213]
2[Option ID=4214]
3[Option ID=4215]
4[Option ID=4216]
Sl. No.5
QBID:182005

Broadband decoupling, gated decoupling, pulsed decoupling are associated with which of the undermentioned
instrument?

.FTIR
. MS

. BeNMR
. MEKC
11

2 2

3) 3

4) 4
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1.T% & S IR
2.UHUY
3. 139 T UH 3R
4 THS GO

1) 1

2 2

3) 3

4) 4

1[Option ID=4217]

2[Option ID=4218]

3[Option ID=4219]
4[Option ID=4220]

Sl. No.6
QBID:182006

Which of the following is also known as indirect ELISA?

1. Double antibody sandwich ELISA
2. Triple antibody sandwich ELISA
3. Competitive ELISA
4. Dissociation enhanced Lanthanide Fluorescence immunossay
1)1
) 2
(3) 3
(4) 4

i § 9 g srcey ufern «i SeToar € 2

1. fg-wfcrel Ysida ufermm
2. Pufarelt Yafow ufern
3. wfcRelt uferan
4. fagrom af¥fa ddiFTss Ui ufaem aiem
1) 1
(2) 2
3) 3
(@) 4

1[Option ID=4221]
2[Option ID=4222]
3[Option ID=4223]
4[Option ID=4224]

Sl. No.7
QBID:182007

DNA loci, which are relatively smaller in size and amenable to amplification by PCR are referred to as :

. Short tandem repeats

. Amplified fragment length
. Polymarkers

. VNTR’s

1)1

(2) 2

3) 3

(4) 4

LA & feguy, S SIPR H S{UaTPpd Sic 8id & SR 4.4l 3R, §RT fIWRU & S 9ad &. 3%
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1. 77¢ &=2H ey
2. yafifd s T (Teegs BiHedy)
3. giferEdRg
4. 410313 .
1) 1
) 2

3) 3
(4) 4

B R S

1[Option ID=4225]
2[Option ID=4226]
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3[Option ID=4227]
4[Option ID=4228]

Sl. No.8
QBID:182008

The model which states that there is a predictable relationship between allele frequencies and genotype
frequencies at a single locus is called as

. Linkage equilibrium

. Dynamic equilibrium
3. Hardy-Weinberg equilibrium
4. Partition equilibrium

(1) 1

2) 2

3) 3

(4) 4

G!“lmsm%ﬁqmm-f&«guuwum“m gRmEl SR SRy Sghudl & did U 30 9= gardl § 94
I PHEAE ?

1. 3faY A1y (ool gadifersa)
2. Tiite A
3. grel-dar 9
4. fqureT 9
@1
@ 2
() 3
) 4

b =

1[Option ID=4229]
2[Option ID=4230]
3[Option ID=4231]
4[Option ID=4232]

Sl. No.9
QBID:182009

Glycoprotein P30 is present in

1. Semen
2. Saliva
3. Sweat
4. Blood

1) 1

(2) 2

(3) 3

4) 4

TARHIVICH Py, fas gram oi1dl § 2

1. a1
2. TR
3. M
4,39

11

) 2

(3) 3

(4) 4

1[Option ID=4233]
2[Option ID=4234]
3[Option ID=4235]
4[Option ID=4236]

Sl. No.10
QBID:182010

Which of these is not used for the identification of saliva sample?

1. Press Test

2. Amylase Test

3. Starch-Todine Test

4, Brentamine Fast Blue Test
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1[Option ID=4237]
2[Option ID=4238]
3[Option ID=4239]
4[Option ID=4240]

Sl. No.11
QBID:182011

RNA is more acidic than DNA, because it contains

1. Adenine
2. Uracil

3. Ribose
4, Cytosine
(1) 1

) 2

(3) 3

(4) 4

IRTAT., ST 3 gan 5, i srefia giar § e sas = e s -

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=4241]
2[Option ID=4242]

3[Option ID=4243]
4[Option ID=4244]

Sl. No.12
QBID:182012

Which alcoholic breverage is normally colourless and odourless in nature?

1. Table wine
2. Whisky
3. Vodka
4. Cedar
(1)1
(2) 2
3) 3
(4) 4

fefafad & o119 Aty TEH IR iugH § 2

1. Caq agd
et
GGl
TSR

N SO

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=4245]
2[Option ID=4246]

3[Option ID=4247]
4[Option ID=4248]
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Sl. No.13

QBID:182013
Which one of the undermentioned alkaloid is extracted from betel nut?

1. Ricinine
2. Coniine
3. Arecoline
4. Atropine

(1)1

(2) 2

3) 3

(4) 4

o s e
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(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=4249]
2[Option ID=4250]

3[Option ID=4251]
4[Option ID=4252]

Sl. No.14
QBID:182014
s

Thalidomide which is a known hypnotic drug causes toxicity of which of the following system?

1. Cardiac

2. Reproductive
3. Respiratory
4. Skeletal
11

(2) 2

3) 3

(4) 4
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1. gad®
2. UoHAdA
3. 990
4. HHIAdA
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4253]
2[Option ID=4254]

3[Option ID=4255]
4[Option ID=4256]

Sl. No.15
QBID:182015

1-Pentyl-3-(1-naphthoyl) indole is commenly known as

1. TWH - 018
2.PTF-021
3.PNI-030
4. PNI-031

1)1

(2) 2

3) 3

4) 4
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1-9¢d-3-(AUUTE) S8Id DI AMHAR TR BT IIdl © -

. TWH-018
.PTF-021
. PNI-030
. PNI-031
1) 1
(2) 2
3) 3
@) 4
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1[Option ID=4257]
2[Option ID=4258]
3[Option ID=4259]
4[Option ID=4260]

Sl. No.16
QBID:182016

Which of the following is caused by the embedding of the unburnt or semi-burnt powder particles into the
target surface?

. Blackening
. Scorching

. Tattooing

. Singeing
1 1

(2) 2

3) 3

(4) 4
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(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=4261]
2[Option ID=4262]

3[Option ID=4263]
4[Option ID=4264]

Sl. No.17
QBID:182017

The similar marks imprinted on cartridge cases by the firearms of the same make and model are :

1. The position size and general shape of the firing pin
2. Number, width, depth and direction of grooves and lands
3. The finer details on the breech-face marks
4. The striations present in the ejector and extractor marks
1
(2) 2
3) 3
(4) 4

U% §OH gA1a¢ R 9=y & of-aRd gRI $RIY @id R fagHifad Ue 90 fga 8 -

1. TR O 1 RURT &7 STPR SR 9 i
2. @i 3R IUR 3 T3, TISw, e 3R famm
3. TIATYE & U & (g1 &1 Y& fdor
4. 3ATF 4R Freavs | fogaE arfeat

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4265]
2[Option ID=4266]
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3[Option ID=4267]
4[Option ID=4268]

Sl. No.18
QBID:182018

Which reagent is used for restoration of erased serial number on aluminium and aluminium alloy surface?

1. Villela’s reagent
2. Hume Rothery reagent
3. Fry’s reagent
4. Benzedin reagent
1)1
) 2
(3) 3
(4) 4
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@) 1
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(3) 3

4) 4
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1[Option ID=4269]
2[Option ID=4270]
3[Option ID=4271]
4[Option ID=4272]
Sl. No.19
QBID:182019

Range of fire can be determined, from the evaluation of the GSR. with fair accuracy with most firearms upto
the distance of

1. 8 mts
2. 6mts
3.4 mts
4, 1 mtr

1) 1

(2) 2

(3) 3

4) 4
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6Tl
41eR
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11
(2) 2
(3) 3
(4) 4
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1[Option ID=4273]
2[Option ID=4274]
3[Option ID=4275]
4[Option ID=4276]

Sl. No.20
QBID:182020

Laser etched serial number present on weapon can be restored by :

1. Acid etching method

2. Magnetic particle method

3. Ultrasonic cavitation method
4, Electrolytic method

1) 1
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) 2
3) 3
(4) 4
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(1) 1

(2) 2

3) 3

(4) 4

O

1[Option ID=4277]
2[Option ID=4278]
3[Option ID=4279]
4[Option ID=4280]

Sl. No.21
QBID:182021

Which of the following explosive is nitramines?

1. TNT
2. PETN
3.RDX
4. Picric acid
(1) 1
(2) 2
(3) 3
(4) 4

f=fafad § @ oF 91 foup e Tgemu e |

A
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oeiea tfis
1) 1

(2) 2

3) 3

(4) 4

da o B2 =

1[Option ID=4281]
2[Option ID=4282]
3[Option ID=4283]
4[Option ID=4284]

Sl. No.22
QBID:182022

Usually the severe fire damage occurs at or near :

1. entry of the apartment
2. area of origin
3. bed lying in the room
4. area of maximum drift
(1) 1
(2) 2
3) 3
(4) 4

HHT 3T Y &Y wUiel &R 39 5 3 oef o1 fogd Mu-u gl € 2

. HUTeHe & WA R
. 3T & I T &9
. HH H USIuET

. qaifes fSwe @1 &
(1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=4285]
2[Option ID=4286]
3[Option ID=4287]
4[Option ID=4288]

Sl. No.23
QBID:182023

Which of the following is a method of separating evidence of different sizes from miscellanious debris?

1. Spoliation
2. Sieving
3. Brisance
4. Kinepack
(1) 1
) 2
(3) 3
(4) 4

f=aad 8 9 &1 w1 fafdy oaey I fafi= STeR & @edi & gygaul 1 fafd g 2
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4289]
2[Option ID=4290]

3[Option ID=4291]
4[Option ID=4292]

Sl. No.24
QBID:182024

SDSC, SDHC, SDXC and SDIO are different types of

1. Media storage card
2. SIM card
3. Pen drive
4. Hard disk
(1) 1
(2) 2
3) 3
(4) 4

T S U O, vy 31 v O, vy 1 uey 3R vy S 315 off Frefafad § O fus i uer € 2

1. Hifsor eRe &8
2. Rmars
3. T IR
4. T8 (&%
1) 1
() 2
(3) 3
(@) 4

1[Option ID=4293]
2[Option ID=4294]
3[Option ID=4295]
4[Option ID=4296]

Sl. No.25
QBID:182025

In human hair cuticle, the scale count is significantly smaller in case of hair from :

1. Face

2. Chest
3. Scalp
4. Nose

1) 1
(2) 2
(3) 3
(4) 4
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ATd < &1 SU-adl & A9 &1 IR Fifed & &gl & §/d 4 9gd PHTIA 6 -

1[Option ID=4297]
2[Option ID=4298]
3[Option ID=4299]
4[Option ID=4300]

Sl. No.26
QBID:182026

Redox status of soil is provided by

1. Soil consistency
2. Soil colour

3. Soil texture

4, Soil strength

1 1
() 2
3) 3
) 4
a1 B SUTIEH TS FfaRad & §R1 WaH &1 Wil 6 :
1. 7a Bl HHiad
2. HaI B
3. JaI DI Hogfd
4. a1 DI Gl
1) 1
() 2
(3) 3
) 4

1[Option ID=4301]
2[Option ID=4302]
3[Option ID=4303]
4[Option ID=4304]

Sl. No.27
QBID:182027

For colour measurement of paint sample, which instrument is used

. GRIM

. MPM-800 system
.FTIR

. SSMS

(1) 1

(2) 2

(3) 3

(4) 4

e & T & T AT H D 1 SUDHR0 Tgad Biel § 2

1. o 3R S TH
2. TH Yi UH - 800 e
3. T% 2 35 3R
4. THTHTHUY
1 1
() 2
(3) 3
(4) 4

da s ko —

1[Option ID=4305]
2[Option ID=4306]
3[Option ID=4307]
4[Option ID=4308]
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Sl. No.28
QBID:182028
Speech production in humans is controlled by which of the following lobe of the cerebral cortex?

. Frontal lobe
. Parictal lobe
. Temporal lobe
4. Occipital lobe

1
2
3

(4) 4

TSl a19- UG d WHRTSh 1 dede & fobd aTal § FEfd gidl g 2

. S{ITIIE gTiel
TiRiT i
R gIfd

. 3 urd Uil
1) 1

(2) 2

(3) 3

(4) 4

e W B2 =

1[Option ID=4309]
2[Option ID=4310]
3[Option ID=4311]
4[Option ID=4312]

Sl. No.29
QBID:182029

Which of the following algorithm is utilized in model based face recognition technique?

1. Principal component analysis
2. Elastic bunch graph matching
3. Scale Invariant Feature transform
4, Local Binary pattern
1) 1
) 2
3) 3
4) 4

1. GI-HCSH fa=adyur
2. YO =5 31 e
3. qTU% HIRGd-1 faive SUiaR (W gaR-=< fhaR SFa%H)
4. R fgsnyRidia=a
1) 1
) 2
3) 3
(@) 4

1[Option ID=4313]
2[Option ID=4314]
3[Option ID=4315]
4[Option ID=4316]

feel-snuiid Jev1-ggarm @t do-te | Fefofad & 9 fow sraniey &1 3udi foar 9 &-

Sl. No.30
QBID:182030

A tyre is having code as P195/65 R/15, where "65" represents :

. Aspect ratio

. Approximate section width
. Rim diameter

. Thickness

1 1

@) 2

3) 3

(4) 4

da Lo b2 =
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U TR R HEfafad e sifdd § - S P 195/65 RU1S,
gl 65 Tl = Pl 8 -

. i 3urd
& m1 ™

Tier

O

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=4317]
2[Option ID=4318]
3[Option ID=4319]
4[Option ID=4320]
Sl. No.31
QBID:182031

The coloured dots imbedded into paper during the manufacturing process of the security or safety papers, is
known as

1. Planchetles
2. Counterfeit protection system code
3. Watermarks
4. Security threads
(1) 1
(2) 2
3) 3
(4) 4

g a%amwwﬁﬁﬁnw.mﬁwﬁm.ﬁaﬁgw Siafey e e 2, 3@ e @
EIGIEIGIEE

1. @ ded
2. SIS Y HREUT o BT BIS
3. gAY
4. i g
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4321]
2[Option ID=4322]

3[Option ID=4323]
4[Option ID=4324]

Sl. No.32
QBID:182032

Elaborate TTI in case of facsimile documents

1. Transmitter Terminal Identifier
2. Transmitted Terminal Identification
3. Transformed Terminal Identification
4. Transmit Terminal Identifier

(1)1

(2) 2

3) 3

(4) 4

Tfcepic axardel & Fa & TT1 8 a1 Sl § :

1. TiHteR eftfa smssfiewR
2. TS efie SMgsiehrR
3. TS ofiHd g SfemR
4 Srefive of E

1

() 2

@) 3

(4) 4
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1[Option ID=4325]
2[Option ID=4326]
3[Option ID=4327]
4[Option ID=4328]
Sl. No.33
QBID:182033

Upon microscopic examination of photocopied document, dry toner fused by which method resembles liquid
tar and has a glossy. bubbly appearance

. Hot soft roller

. Cold pressure

. Radiant heat

. Heat and pressure
(1) 1

@) 2

3) 3

(4) 4

el ey 710 SETas Pl garasil ofid w31 R Fiied # ¥ fog fafd 3 gafdd gw <i-Ro gfad
TR & THear Sedl 8 SR $@®- 1 U8 Haie aae ol ol 6 -

b2 =

S )

1. 391 g AR
2. Qid g
3. S| 3T
4.9 3R g9

1) 1

(2) 2

(3) 3

(@) 4

1[Option ID=4329]

2[Option ID=4330]

3[Option ID=4331]
4[Option ID=4332]

Sl. No.34
QBID:182034

In context of counterfeit protection system code, what does VPS stands for :

1. Vertical Protection System
2. Vertical Pattern Separation
3. Ventral Protection System
4. Valued Pattern System

1 1

(2) 2

(3) 3

(4) 4

STerTol § WRef0 Red wrs & dg § ves I 1 Sfimd B -

1. aféepd Uieam ey
2. gféPHd U A
3. ded vieawH Rren
4. deys e Reen

1) 1

(2 2

(3) 3

(@) 4

1[Option ID=4333]

2[Option ID=4334]

3[Option ID=4335]
4[Option ID=4336]

Sl. No.35
QBID:182035

Which of the following groups of features of the human skull characterize people of Negroid ancestry?

1. Wide nasal aperture, projecting face, rectangular eye orbits, low and rounded nasal root.
2. Narrow nasal aperture, straight face, angular eye orbits, high and narrow nasal root.

3. Medium nasal aperture, intermediate face, rounded eye orbits, low and ridged nasal root.

4, Medium nasal aperture, very narrow face, triangular eve orbits, high and narrow nasal root.

@ 1
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) 2
3) 3
(4) 4

e 5 1 A1d RRIdeP &1 Sifician g FUlegs 99 & sfiled Hdl s 2

AIST I g, Uaild 98, SIdeR 44 HicT, Hd1 R uddl s Jd
HH AR %, TTe =61, PIviT 3 ®1ex, F91 iR gdel 18 ga

e RS %, Hegd =967, MAIeR 7 Die, 5 3R Sed iy Aiier ga
.Y AIRIS] s, §5d gaa: 96, fdeig =3 Siex, S SR uaal A ga

1) 1
(2) 2
(3) 3
(4) 4

o k2 =

1[Option ID=4337]
2[Option ID=4338]
3[Option ID=4339]
4[Option ID=4340]

Sl. No.36
QBID:182036

The Carabelli’s cusp is most commonly found among the dentition of :

1. Chinese

2. American Indians
3. Mongoloids

4. Caucasoids

(1) 1

(2) 2

(3) 3

(4) 4

fpg® <d foarR & ur: SRy o AT ST © -

1[Option ID=4341]
2[Option ID=4342]
3[Option ID=4343]
4[Option ID=4344]

Sl. No.37
QBID:182037

In determining the sequence of strokes, the running out or spreading of fluid ink into existing ink stroke is the :

1. Modification of the first writing because of spreading of ink in it.
2. Aspect inherent in later writing,
3. Modification of subsequent writing by the original writing.
4. Disturbance caused due to the surface of the paper.
1 1
(2) 2
(3) 3
(4) 4

aﬁﬁ%@gaﬁwﬁuﬁﬂmﬂﬁ@-ﬁauraaﬁﬁmwﬁ%ﬁ%ﬂaﬁmﬁ:@ﬁﬁwﬁ
i )

1. gg0l 19 ferarae § wipll & (9:9d 814 & SRUI SH$T IUiarUl
2. IRad| fogae | siafifed ger
3. Aifee forarae § wad! d@s &1 SUrRul
4. BATS & Jdg & PRUT BING Sl
1
() 2
(3) 3
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4) 4

1[Option ID=4345]
2[Option ID=4346]
3[Option ID=4347]
4[Option ID=4348]

Sl. No.38
QBID:182038

An injury caused by a low-velocity force that has a wide area of impact on bone is called as

1. Sharp force trauma
2. Blunt force trauma
3. Projectile trauma
4. Static trauma

(4) 4

%1 971 & 99 9 utia =ie foad Sifey 7o &7 TR 3YR §id1 § 34 o491 ol ol § ©

1. It & SffYETd
2. Ppidd g HfHard
3. &gl i
4. TR 3ffEmg

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4349]
2[Option ID=4350]
3[Option ID=4351]
4[Option ID=4352]
Sl. No.39
QBID:182039

After death, the process of degeneration of the body tissues by the digestive fluids normally residing in the
intestinal tract is termed as :

1. Diagenesis
2. Homogenisation
3. Autolysis
4. Putrefaction
1 1
(2) 2
(3) 3
(4) 4

T & a5 3l & Fied U %ol & gRT SRR & Ia®! 31 9 Hfehal &1 a1 Hel ol ¢ :
R LR
HH B

. TadaH (e agaRT)
e

:b.t..u!..;l»—t

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4353]
2[Option ID=4354]

3[Option ID=4355]
4[Option ID=4356]

Sl. No.40
QBID:182040

The presence of insects on a cadaver but not found in the surrounding area indicates that :

1. The cadaver was still fresh
2. The cadaver was displaced
3. The ambient temperature surrounding the cadaver was too low.
4. The insects were absent in the area.
(1) 1
(2) 2
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3) 3
(4) 4

Y@ R BIC BT ITAX B IR 39 & T PI DT 7o 61 1 Jbd BRI © |

. X1g St Srar AT |

. 219 RIFTARA o T |

.4 & SHTH-UTH BT 199 §gd HY o |
. &A T DI T8l UL Y |

1) 1

(2) 2

(3) 3

4) 4

O R

1[Option ID=4357]
2[Option ID=4358]
3[Option ID=4359]
4[Option ID=4360]
Sl. No.41
QBID:182041

A scientist working in FSL need to have knowledge of what has happened to the sample before it come to their
possession because this can have implication on analysis and result, such in formation may include :

A. Environment and surrounding from which the sample came.
B. Name of person who collected the sample.

C. How the sample was packed and transported.

D. Statement of victim and witness.

E. How the sample was stored?

Choose the most appropriate answer from the options given below :

LA, C.B only
.B.D.,E only
.D, C,E only
A, C.E only
(1) 1
(2) 2
3) 3
4) 4

U%.U4.Ud. § SRRd U a1+ Og o1 916l § 1dh 3+ Wit § 3= J gl S o1 a1 §3fl ol
mﬂ%gﬂwﬁuwﬁsﬁwsﬁwﬁwﬁwwu—sm% | SH T H 5 ard e gid
JHdi g :

A. 579 ygiaror 3R uRew & S a AR T g |
B. UHd UaHd de-dre odiad &l A4 |

. I B ol Uds foran T 3R o T I |
D. Tif&d 3R e & 7911 |

E. 4T¢ &1 $Y 3G 74 |

i< feu 7T fas el § ¥ 9ad SugHd Gk &1 99 SITU|

1. A A, C. B
2. $ad B,D.E
3. %90 D, C,E
4. PAAA.C.E

1) 1

(2 2

(3) 3

(4) 4

b =

SR )

1[Option ID=4361]
2[Option ID=4362]
3[Option ID=4363]
4[Option ID=4364]

Sl. No.42
QBID:182042
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Which of the following best define Micellar Liquid Chromatography (MLC) ?

A. Allows direct injection of urine/serum

B. MS is the best detector to be coupled with MLC system
C. Hardware is similar to that of HPLC

D. Uses surfactant below its CMC

E. An example of green liquid chromatography

Choose the most appropriate answer from the options given below :

1.A, Band Conly
2.A BandE only
3.A.CandE only
4, B, C and E only

1) 1

) 2

3) 3

4) 4

Fiferd & O foud fieR %a auica (Ud va O & aod dkid 3§ a¥iig Tk ¢ |

A T THRIRE &1 Ul oieRH [{U S ¢ |

B. U9 TS 1 UUIel! & A1 i U S 8q Ms 9aiad Sgad® gidl § |
C.39H ghae< d ta 91 & A= waim fPur o g |

D. U8 &¥d d auied &1 3aexU o

i feu Y fasedl § ¥ 9ad SugHd Gk &1 99 S|

1.%ad A, B3R C
2.%Had A, B3IRE
3. %Pad A, C AR E
4. HdAB.C ARE

1

() 2

3) 3

(@) 4

1[Option ID=4365]

2[Option ID=4366]

3[Option ID=4367]
4[Option ID=4368]

Sl. No.43
QBID:182043

Which of the following are TRUE for messenger RNA-based assays for the identification of body fluids?

A mRNA-based assays are based on the expression of certain genes in certain cells or tissue types.

B. Techniques that are used in the identification of bodily fluids are based on the detection of specific types
of mRNA that are expressed exclusively in certain cells.

C. Compared with conventional assays that are used for bodily fluid identification, the mRNA based assay
has higher specificity.

D. mRNA-based assays are not amenable to automation.

E. mRNA remains stable and does not degrade by endogenous ribonucleases.

Choose the most appropriate answer from the options given below :

1.B.D. E only
2. A, C.E only
3.A,B.Conly
4.B, C,D only

(1) 1

(2) 2

(3) 3

(4) 4
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YRR Zal B 9gaH & iU Jexae® IR AyRd o s aR A e d 3o 99 2

A. PO FiTed di &1 Ug=H H Ugad B aTeil Tl mRNA-SHTEIRG (T390 o fHiEd ity o
Hfrorad R uiRd € |

B. TR &al &1 Uga 3 W 611 aleil do-id mRNA $1 3P USRI &1 0dl a1 1R 31T 8
St Afgad st & sFa w9 9 fiemad g g |

C. RIS gdl &1 Ug=H & Iy wged IR faSeisull 1 qa 0, mRNA 31YTRd faRayor a1
faRmaaE e e |

D. mRNA - S{THTR [a2euuli &1 gage & 34 T8l S &1 9o |

E. 3lid (TS oad) USe-aaaddl gRT mRNA HaHiHE 76! sidl iR RR FA1E/de |

9 feu e fadeal § ¥ 9ol S9Ed SR B 999 S|

1.%ad B, D, E
2. FaA A, C.E
3.$PAd A, B, C
4.$dd B, C,D

) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4369]
2[Option ID=4370]
3[Option ID=4371]
4[Option ID=4372]

Sl. No.44
QBID:182044

Which of the following presumptive and confirmatory tests for blood stains are based on peroxidase activity?

A. Benzidine test

B. Luminol test

C. Takayama test

D. Phenolphthalin test

E. Leucomalachits green test

Choose the most appropriate answer from the options given below :

A B. Conly
A, D, Conly
.B.C.D only
.A.D.E only
1 1
(2) 2
3) 3
(4) 4

w%u?‘f%%qﬁmﬁ@ﬂﬁ@ﬁ?{@ AT 1 Y P RS TRIEU R RIS Midfafd o
HIYTRAE 2

A, §SiTsIgT oiiem

B. WA gRiam

C. THITH G=1&m

D. TrIem Y= Tiem

E. WS IHAIHIgGE Y- URI&0l
i fGu T fashetl § 9 9a¥ Sugad STk &1 94 BIfofU |

1. AT A, B, C
2. $BAd A, D, C
3. %ddB.C. D
4. $dd A, D, E

1) 1

(2 2

(3) 3

(4) 4

e L b =

1[Option ID=4373]
2[Option ID=4374]
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3[Option ID=4375]
4[Option ID=4376]

Sl. No.45
QBID:182045

Which of the undermentioned are related to toxicokinetics?

A. Absorption

B. Protein binding
C. Cellular changes
D. Metabolism

Choose the most appropriate answer from the options given below :

1. B and C only
2. Aand D only
3. Aand B only
4. Cand D only

(1) 1

(2) 2

(3) 3

(4) 4

Ffafaa § o efcasiarEafcey I gafid g 2

A, YT

B. UidH arsfen

C. BIfh uRad
D. 3UT9=g

i f4u 7Y fde et § ¥ Ha SUgdd STk D1 94 B |

1. FHaaB 3R C
2. %ad A 3R D
3. Fad AR B
4. %HaAC AR D

1) 1

() 2

3) 3

(@) 4

1[Option ID=4377]

2[Option ID=4378]

3[Option ID=4379]
4[Option ID=4380]

Sl. No.46
QBID:182046
Read the statements.

A, The choke 1s a constriction that reduces the diameter of the barrel near the muzzle end.

C. The lever action is also known as trombone action.
D. Air guns work on compressed air.

Choose the correct answer from the options given below :

localhost/ntareportsqp/qPprint.aspx

B. The diamter of the chamber is equal to diameter of the cartridge to be fired from the firearm.

20/92



2/22/23, 6:25 PM 82_Forensic Science
Frifard YAl @ gieul

A. TS (FATERIY) IH9- § o & SRUIAaEEd & R & UM A1d 1 39 92 Al ¢ |
B. IS BT Y IR § IAU T HFRIT & o9 F A B¢ |

c. R & o1 @ eraiH & ot Fe S |

D. TR T dGiEd ag 4 H 3 § |

i fau U fadhetl & ¥ gl 3R &1 994 DI

1. Padd A, B
2. $ad B, C
3. HBAAAD
4, %dd B.D

)1

) 2

(3) 3

(4) 4

1[Option ID=4381]
2[Option ID=4382]
3[Option ID=4383]
4[Option ID=4384]

Sl. No.47
QBID:182047

A substance, to be used as an explosive, must possess following properties :-

A. In burning, it gives off large amount of gas.

B. Burn, very rapidly by itself without aid from outside air.

C. It burns rapidly without outside air and gives off more heat but no gas.

D. A considerable amount of heat is evolved.

E. Burns very rapidly with aid from outside air and gives off large amount of gas.

Choose the correct answer from the options given below :

1.A.B.E only
2. A B, Conly
3 A.B.Donly
4. A D, E only

(1)1

) 2

3) 3

(4) 4

faepied & 9 & Wiad g ad ygrd § sifRaria: Fifetd 1o fdem= gH =feu |

A. T5 & IR 599 R OF1 H T a76) R © |

B. §T81 91 ! 9eT9dl & §7R 90 duil ¥ Saad @ |

c.%a@ma@%ﬁmﬁgﬂﬂﬁﬁmmaﬁ?wua{%mw e § [ Ig 19 151 St
BIAIG |

D. P I S~ il § |

E. STl a1g o1 FeTddl | 9gd doil J Sordl & SR 598 YR AE H 719 §6R Hoadrs |

S feu e famedl § ¥ gl 3R &1 99 BT |

1. %dd A, B, E
2. PAA A, B, C
3. WaA A, B, D
4. PAAA.D,E

(11

(2) 2

(3) 3

(4) 4

1[Option ID=4385]
2[Option ID=4386]
3[Option ID=4387]
4[Option ID=4388]

Sl. No.48
QBID:182048
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Choose the correct statement:

A Retardation of projectiles, due to air resistance, is proportional to some power of the velocity in a
restricted zone of velocities and vary with different velocity zones.

B. There is no absolute form factor for any bullet, the form factor is always for a particular ballistic table.

C. The heavier the projectile, having same shape and diameter as the other projectile, the more it will be
retarded.

D. Greenhill formula, for determining the amount of spin necessary to stablize an elongated bullet, is
satisfactory for bullets having specific gravity of 11.35 (sp. gravity of lead)

Choose the correct answer from the options given below :

1. A B only
2.B.Conly
3.A.Donly
4. C, D only

1 1

(2) 2

3) 3

(4) 4

ﬂ_ﬁﬁﬁzﬁgﬁq:

A. 97 TRy % BRI HATUIRE! & fade ot & ufaefd & 3 97 3t v Uida & gourd g g
IR foft= g eFf Hug fu g |
B.@@?ﬁ%@ﬁﬁﬁﬁﬁ&ﬁmﬁm% | B Thaex g fHft namur aifre gy &
|
C.%;%ﬁﬂg_&; 3IR ST ATdl YR fSaT gaR &1 g1 9 U@ YRI R ag Sa-l of i
l
D. 11.35 fAfRTY @ (i1 31 [ To@) ard ol mial & g afdd il of RRe 4 o= &
foe T 31 T erauifd Fx & fou AT @ game 2 |

i faU U fadhetl © U 5! 3R &1 99 DIl |

1. Pad A, B
2. %ad B, C
3.BAAAD
4.%dd C,D

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4389]
2[Option ID=4390]
3[Option ID=4391]
4[Option ID=4392]

Sl. No.49
QBID:182049

Constituents of triple base smokeless powder are :

A Nitrocellulose

B. Nitroglycerin

C. Nitrophenyl amine
D. Nitroguanidine

E. Nitrotoluene

Choose the correct answer from the options given below :

1. A Band C only
2. A, Band D only
3.A.BandE only
4. B, D and E only

1 1

(2) 2

(3) 3

(4) 4
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SIuel 89 YSiRiGd e B Uch DI PR |
A ECHIgaN
B. ASCIM@&RA
C. TR TS THIE
D' ~
E. AIg¢ieldi
14 fau Tt faeedl § 9§ Hel 3R &1 994 BT |

1. %A A, B, C
2. ®ad A, B.D
3. %dd A, B, E
4. %ad B, D, E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4393]
2[Option ID=4394]
3[Option ID=4395]
4[Option ID=4396]

Sl. No.50
QBID:182050

Which of the following are types of diffusion flames?

A, Laminar

B. Smolder

C. Turbulent
D. Spontaneous

Choose the correct answer from the options given below :

1. Aand B only
2. Aand C only
3.B and C only
4. B and D only

(4) 4

AT T AP A T RU N S IR S |

A AR (Uedi)

B. THISR (T
C. SRR ()

D. 1= ()

=i fau U fasetl & T gl 3R &1 99 Bifull |

1. $ad A IR B
2. HAAAARC
3. HadB AR C
4. Had B AR D

1

() 2

3) 3

(4) 4

1[Option ID=4397]

2[Option ID=4398]

3[Option ID=4399]
4[Option ID=4400]

Sl. No.51
QBID:182051
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For examination of refractive index of glass frangments. following techniques are used.

A. Scanning electron microscope
B. Mettler hot stage microscope
C.FTIR

D. GRIM

Choose the correct answer from the options given below :

1. Aand B only
2. Band C only
3. Aand C only
4.B and D only

(1) 1

(2) 2

3) 3

(4) 4

B9 & chol & AUAID GBS P TA& Sq FEaRad wiafai sgad sl ¢ -

A. TpTT geiae T wemaRl
B. HeTR Bic o Y&aewil
C. UU T 3 3R
D. S 3R 3115 TH

=t fau U o el & ¥ I8! 3R &1 99 Bifort |

1. $ad A R B
2. HaAB AR C
3. PaTASMRC
4. Had B AR D

1

) 2

(3) 3

@) 4

1[Option ID=4401]
2[Option ID=4402]
3[Option ID=4403]
4[Option ID=4404]

Sl. No.52
QBID:182052

Isopolar pollen grain have identical.

A Proximal pole
B. Oblate pole
C. Distal pole

D. Prolate pole

Choose the correct answer from the options given below :

1. Aand B only
2. Aand C only
3.B and C only
4. D and C only

1) 1

(2) 2

3) 3

(4) 4
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FHYER IR0 § 90w §1d 87

A GO 4
B. U4 §d

C. ¥ Yd
D. qrefef

= feu e fadedl § ¥ Iad STH SR BT 999 S|

1. Had A AR B
2. Had A AR C
3. PaaB AR C
4. PAAD AR C

1

() 2

3) 3

(4) 4

1[Option ID=4405]

2[Option ID=4406]

3[Option ID=4407]
4[Option ID=4408]

Sl. No.53
QBID:182053

For dispatch of Mobile Phone device which of the followings bags are used?

A. Anti-static bag
B. Paper bag

C. Polymer bag

D. Electrostatic bag

Choose the correct answer from the options given below :

1. Aand B only
2. B and C only
3. Cand D only
4. Aand D only

1 1

(2) 2

3) 3

(4) 4

HiaTEd B S WS # FEfTRad 17 9 87 ugad 8ld § 2

A Uf9-2fd® a1

B. U= &7

C. §gd (UIiER) &7
D. faga Wiae am

i f4u 7Y fde et § ¥ Ha SUgdd STk D1 94 B |

1. Had A R B
2. HaAB AR C
3.%ad C AR D
4. HadA A MR D

1

() 2

3) 3

@) 4

1[Option ID=4409]
2[Option ID=4410]
3[Option ID=4411]
4[Option ID=4412]

Sl. No.54
QBID:182054
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The structure of frustule of diatom is

A. Symmetric
B. Crystalline
C. Non Symmetric
D. Non Crystalline

Choose the correct answer from the options given below :

. A and B only

.B and C only
3. Cand D only
4. D and A only

(1) 1

(2) 2

3) 3

(4) 4

STgcH &1 WREH [0 YR B 43a1 6 ?

A, goifds

B. YaTgad
C. TR-Iuff®

D. TRIagad
= &g Ty fasedl © 9 9ad IUga IR P 90 DI |

1. $ad A 3R B
2.%ad B3R C
3.%9d C3RD
4.%ad D3R A

1

) 2

(3) 3

@) 4

ko =

1[Option ID=4413]
2[Option ID=4414]
3[Option ID=4415]
4[Option ID=4416]

Sl. No.55
QBID:182055

Which of the following are behavioural biometrics?

A Signature

B. Odour

C. Keystrone dynamics
D. Lip motion

E. Skin reflectance

Choose the correct answer from the options given below :

A, Band C only

A, Cand D only
3.A.CandE only
4, A, Dand E only

1) 1

) 2

3) 3

4) 4

ko =
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Fofafea 7 9 o1 sageR-9fAd vafifa @mmicen € 2

A BXIER

B. 7Y

C. Poil-HTdTd T
D. i1 &I i

E. @] s

14 fau Tt faeedl § 9§ 9l 3R &1 994 BT |

1.Had A, B IR C
2.%ad A, C3RD
3. PaA A, C ARE
4.%ad A, D 3IRE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=4417]
2[Option ID=4418]

3[Option ID=4419]
4[Option ID=4420]

Sl. No.56
QBID:182056

A Sweat pores

B. Edges of the ridges
C. Ridge orientation
D. Singular points

E. Incipient ridges

Choose the correct answer from the options given below :

1.A, Band Conly
2. A, Cand D only
3.A.DandE only
4, A, BandE only

1)1

(2) 2

3) 3

(4) 4

et TaTfera Sivell-aTy Ugar withal § WR-3 & fRive! & Samsu AE U BH g 2

A Way

B. Hed| & (AR
C. Fed (Giaar
D. Uod fag

E. YR® Feh

i feu e famedl © 9 U8l SR &1 99 Il |

1. $AAA, B3R C
2. HBAAA, C IR D
3.%dd A, D IR E
4. Had A, B IIRE

1

(2 2

(3) 3

(@) 4

1[Option ID=4421]

2[Option ID=4422]

3[Option ID=4423]
4[Option ID=4424]

Which of the following are examples of level-3 features in automated fingerprint identification?

SlI. No.57
QBID:182057
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The featues that characterize “STOP” (manner of articulation) production are :

A. Silent gap

B. Noise burst

C. Voice onset time

D. Rise and fall times
E. Incidential difference

Choose the correct answer from the options given below :

1.A, Band Conly
2. A Band D only
3.A.CandE only
4, A, Dand E only

1) 1

2) 2

3) 3

4) 4

WY (SR & &) D S5 D1 enaifrad [ F= 8 -

A, 9T 3R
B. @3 @1 faumie

C. ¥R DI 3faRTE 7afy
D. IM 3R Uaq afedi
E. YIRS 3R

=i fau U fadetl & ¥ T8l 3R &1 99 Bifuiu|

1. HAAA, B3R C
2.%ad A.B3RD
3. Had A, C AR E
4. %97 A, D IRE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4425]
2[Option ID=4426]

3[Option ID=4427]
4[Option ID=4428]

Sl. No.58
QBID:182058

Which of the following materials are used as release agents during casting of shoe print :

A Talcum powder
B. Silicone spray

C. Wood’s metal

D. Colour spray print

Choose the correct answer from the options given below :

1. Aand B only
2.B and C only
3. Aand D only
4, C and D only

(1) 1

(2) 2

3) 3

4) 4
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@ﬁ%w%%ﬁmﬁ%wﬁmﬁ@aﬁ%%mﬁﬁ SUT e Sifietie] & U 9 e
SATg 2

A. TUHH I3
B. Rifc®= o
C. g9 Hed
D. H W aY

i feu e faseal H 9 9ad S9gHd SR &1 909 S|

1[Option ID=4429]
2[Option ID=4430]
3[Option ID=4431]
4[Option ID=4432]

Sl. No.59
QBID:182059

Which of the following inks get bleeched or immediately changes or get removed from the document by the
action of oxalic acid?

A Iron-nutgall inks
B. Nigrosine inks
C. Logwood inks
D. Indian inks

Choose the correct answer from the options given below :

A, B only

.B. C only
3.A Conly
4. C, D only

(1) 1

(2) 2

3) 3

(4) 4

T & O o O W sieeiee 3 & HRUTaRfSId 81 9I1dT § 91 dobTd 9iafad 81 irdl & a7
X0 4 @ gl ol g |

A 3T TN 5B
B. FUIRASH
C. Tge §P
D. 38U 5P
4 fau U fawedl 1 ¥ Haiie Iuged IR & 997 S|

1. Pdd A, B
2. $4dAB. C
3.BAAA, C
4.$adC, D

1) 1

(2) 2

(3) 3

(4) 4

ko =

1[Option ID=4433]
2[Option ID=4434]
3[Option ID=4435]
4[Option ID=4436]

Sl. No.60
QBID:182060
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Read the following statements and choose the correct answer.

A. Retouchings can be seen anywhere in the strokes.

B. Retouchings of strokes does not have extra ball-pen grooves or strokes.
C. In forged writings, the retouchings are made in concealed manner.

D. Retouching were observed to be done with different pen and ink.

E. Retouchings show uniformity in their outer margins.

Choose the most appropriate answer from the options given below :

A, B, Conly
LA, C.Donly
.B.D.E only
.C.D, E only
(1) 1
) 2
(3) 3
(4) 4

i d PYAl B aleT 3R Fel SR U -

A T T TR § g8 wel Ul S S aedig |

B. ABRI & I-wel d ifafed did U9 & @ AT dDR A8l sldl g |
C. T Id o H s v T 8 GemH By |

D. Y- S{eRT-eH SR 6! 4 PIRd §3H1 Urdl 1l |

E. -5 ¥ 3-1e &gl 41Aid & Ue &9dl YafRid gidl § |

4 fau 7Y faden § ¥ 9aiied Iugad 3R & 997 SIfg|

1. AT A, B, C
2. PAdA A, C.D
3. $9dB,D,E
4. 9ddC, D, E

1) 1

) 2

(3) 3

(4) 4

B R

1[Option ID=4437]
2[Option ID=4438]
3[Option ID=4439]
4[Option ID=4440]

Sl. No.61
QBID:182061

In all electronic typewriters, the letter spacing, letter selection, basic alignment, line spacing and ribbon action
are, all are controlled by:

A. Microprocessor
B. Plunger

C. Solenoids

D. Handle rod

E. Electric motors

Choose the correct answer from the options given below :

1. A, Band Conly
2.B.Dand E only
3. A Band D only
4. A, CandE only

1 1

(2) 2

3) 3

4) 4

localhost/ntareportsqp/qPprint.aspx
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Mt saaR® eI 1, dex Wi, dex Jdarm, Hifte avE-, Ufed siavd iR e o @b
Feifea fdfhaga e

A TS TR
B. WoR

c. gy
D.ESd0S

E. galfdge Hiex

A feu e fawedl H 9 gl SR &1 99 S|

1[Option ID=4441]
2[Option ID=4442]
3[Option ID=4443]
4[Option ID=4444]

Sl. No.62
QBID:182062

Read the following statements :

A. In hand movement. the letters are made almost entirely by the action of the thumb and the first and
second fingers of the hand.

B. Alignment in hand movement of writing is very uneven and many words may have an upward tender.

C. Hlegible, scratchy, angular and rapid writings are produced by hand movement.

D. In hand movement, the connections at the tops and bottoms of letters are very narrow and angular.

E. The hand movement gives complete lateral freedom.

Choose the correct answer from the options given below :

A B, Conly
.B. C.D only
.C.D.E only
.A,D.,E only
1 1
(2) 2
3) 3
(4) 4

fiferd Byl o1 afeu :
A TR IO H SH&R UIY: SIS SR ggell &l el & g1 el Sl © |
B. T 8% 99a H 3REH 9% [T90 3Ia1 § 3iR 374 I $8 iRE- 368! gl 9ol g |
C. 3{us-ital, udle, S0l 3R §d e g Fue 4 Id9 BIdT ¢ |
D. % Ia B 31eRl & Ui ofR 9 & 914 i Tl iR S eia § |
E. 5% 990 & Haasy qof wadi Wi o fufd e sl g |

I PR SR

4 fau e faseal 7 9 a8 Sugad SR &1 999 BT :

1. e A B, C
2. hav B,.C,D

1[Option ID=4445]
2[Option ID=4446]
3[Option ID=4447]
4[Option ID=4448]
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Sl. No.63
QBID:182063

Which of these are considered unnatural sexual offences?

A. Tribadism
B. Bestiality
C. Sodomy
D. Insect

E. Stalking

Choose the most appropriate answer from the options given below :

A, B.D only

.B,C.E only
3.A.C.E only
4, A, B. C only

(1) 1

(2) 2

3) 3

(4) 4

AT H IH-BH H Spid® HIHS ORIy § -

A WG AftER
B. Uraifqedl

C. Tal-HYA

D. DIEfad FER

E. - UH Uis 31

=i fau U fasdetl & ¥ el 3R &1 99 Bifull |

1.%dd A, B, D
2. $dd B, C,E
3. BAA A, C,E
4. PAA A, B, C

)1

() 2

(3) 3

(4) 4

LD

1[Option ID=4449]
2[Option ID=4450]
3[Option ID=4451]
4[Option ID=4452]

Sl. No.64
QBID:182064

Which of the following consitute major applications of Forensic Entomology?

A Estimation of post-mortem interval (PMI) in suspicious death cases,
B. Determination of place of death.

C. Identification of arcas of ante/perimortem trauma on the body.

D. Determination of age at the time of death.

E. Determination of ethnic affiliation of the deceased.

Choose the most appropriate answer from the options given below :

:E, D, C only

.D,C.B only
3.C.B. Aonly
4. B. A E only

(1) 1

) 2

3) 3

(4) 4

b2 =
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Fefafad o @ e $ie a9 & UgE Sy g -

A, FfeTy Jg & [l § §eg SURId SIaRTa DT S{IH T |
B. T & ®F 31 (HuRoT |

C. IR R G & Yga/FHY AHYI & &1 B UsdH |

D. 5 & GO & 1 R |

E. Jdo &I JaTciig YgdI &l (R |

i feu 7T faeetl d ¥ Fa¥ 9ugdd STk D1 9 BT |

1.%adE, D, C
2.%daD,C. B
3. $AAC, B, A
4. PAd B, A, E

1) 1

(2 2

(3) 3

(4) 4

1[Option ID=4453]
2[Option ID=4454]
3[Option ID=4455]
4[Option ID=4456]

Sl. No.65
QBID:182065

Bite mark helps in personal identification using which of these types of evidences?

A. Nasal mucous
B. Saliva

C. Teeth marks
D. Lip print

E. DNA

Choose the most appropriate answer from the options given below :

1. A, B and E only
2.B.CandE only
3.B.Cand D only
4, A, B and D only

1) 1

(2) 2

3) 3

(4) 4

o= Tl & IughT ¥ S5 71 e ¥ feaTa ugEr © wergal e §

A TRHT |E
B. @R

c.gd e

D. eREIC DY
E. SITAT

i fSu U fashetl § 9 9a¥ SUgad Gk 1 94 BIfof |

1. $aAA, B 3R E
2. HBaAB, C ARE
3.%dd B, C 3IRD
4. 39T A, B 3IRD

1

) 2

@3) 3

@) 4

1[Option ID=4457]
2[Option ID=4458]
3[Option ID=4459]
4[Option ID=4460]

Sl. No.66
QBID:182066
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Match List I with List IT

List I (Tvpe of Evidence) List IT (Explanation)

A |[Real Evidence I. [Evidence used during the testitnony of witness

B. |Testimomal Evidence II. |Second hand mformation or overheard comment

C. [Demonstrative Evidence] II1. [Witnes under oath giving statement of fact

D. [Hearsay Evidence IV. [Evidence which 1s physical in nature and involved in some stage of crime]

Choose the correct answer from the options given below:

1. A-L, B-IIL, C-IV, D-II
2. A-IV, B-IIL, C-1, D-II
3. A-IV, B-I, C-II, D-III
4. A-IV, B-I, C-III, D-II
1) 1
(2) 2
(3) 3
4) 4
eIt 19 F1Y i 11 BT e DI :
=T 1 (F180 T UPN) T 11 (TR
A [ardias Tieg 1. [Ta18 & U & GHT ST U 7T T4 |
B. [HEG! 9160 1. [rer =1 a1 [8ue Sy g1 7 feuui |
C. [neRHTES 91ed 111 [R70Y T3 418 &R 1641 7191 321 &l 99 |
D_ |34 (@ 1-garm e v, [Hifde Uota 1 91 o HORTH & fop ) TRul § GiHed &
= f4u U fawedl § ¥ gl 3R &1 99 @i :
1. A-L, B-IIL, C-IV, D-II
:

. A-IV, B-IIL, C-I, D-TI
. A-IV, B-1, C-I, D-TII
. A-IV, B-I, C-III, D-II
)1
(2) 2
(3) 3
(4) 4

e Taa

1[Option ID=4461]
2[Option ID=4462]
3[Option ID=4463]
4[Option ID=4464]

Sl. No.67
QBID:182067

Match List I with List IT

LIST I LISTII
. [Distillation . |Difference in rate of movement of a solute in SP and MP
Chromatography] II. |Difference of solubility in two unmissible liguids
. [Electrophoresis | III. |Difference in volatilitv of compounds
. [Extraction IV |Difference in migration rate of charged species in an electric field]

] [l Iv=] 2

Choose the correct answer from the options given below:

. A-II, B-I, C-IV, D-TII
. A-I B-III, C-IV, D-II
. AL B-I, C-IV, D-TI
. AL B-I, C-II, D-IV
1) 1
(2) 2
(3) 3
(4) 4

Ja L ko —

localhost/ntareportsqp/qPprint.aspx
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il 19 I1Y i 11 BT e DI :

T I I
HTHT L [Tl SR U0 H {900 & Ygad aX H AR |
CEIE] 1L [&f 315 gal o faciadl &l faug |
[P Ry Godeime )| 1L [GiFe & ara=iadl 5 Ho |

SR 1V, [iadt T9erd & | S1aid ueiid & gary § Sy |

FEfRad fdmedl 9 Tel 3R &1 994 It -

. A-II, B-I, C-IV, D-II
. AL B-II, C-IV, D-TI
. AL B-I, C-IV, D-II
A-IIL, B-I, C-II, D-IV

o[o]w]>

R

(1) 1
2) 2
3) 3
4) 4
1[Option ID=4465]
2[Option ID=4466]

3[Option ID=4467]
4[Option ID=4468]

Sl. No.68
QBID:182068

Match List I with List IT

LIST I LISTII
A [NME. I. |Sample is nebulized before analysis
B |JAAS II. |Seperation of charged analvte using high voltage electrophoresis,
C. [UWV II1. [Elucidating structure of chemical species
D |C.ZE. IV. PMolecular absorption spectroscopy

Choose the correct answer from the options given below:

. A-IV, B-I, C-II, D-TII
. A-II, B-II, C-IV, D-I
. AJIL B-I, C-II, DIV
. A-IIL, B-I, C-IV, D-II
1) 1
(2) 2
(3) 3
(4) 4

il 19 I1Y i 11 BT e DI :

LIST I LIST II
INMER @ AR 1 [faRayu & ud $0d &1 Heied &9 adi© |
AAS OUTE) | I [3=d el SUd BN B UONT Y HIG2 Zoad [G9ey B gyFm Y|
UV, (@dh 111 REEHE Foildl ! TR B [gdd1
cze @@iSgs) | 1v |snftam o=y waer-geil

9 fag 7y famedi 7 9 9! IR o1 997 SIS -

. A-IV, B-I, C-II, D-TII
. A-TI, B-III, C-IV, D-I
. A-IIL, B-I, C-II, D-IV
. A-IIL, B-I, C-IV, D-II
)1
) 2
(3) 3
(4) 4

da s bo o—

olo|w|>

L b o

o

1[Option ID=4469]
2[Option ID=4470]
3[Option ID=4471]
4[Option ID=4472]

Sl. No.69
QBID:182069
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Match List I with List IT

82_Forensic Science

List I (Mass Analyzers)

List IT (Analysis Principle)

A [Double focusing I. [Equal kinetic energy ions enter drift tube.

B. [lon trap II. Jlon motion in dc and radio-frequency fields.

C. |Quadrupole III. |Storage of ions in space defined by ring and end cap electrodes.
D. [Time of flight IV. |[Electrostatic focusing followed by magnetic field deflection

da ko —

(1) 1
(2) 2
(3) 3
(4) 4

A-IV, B-III, C-1I, D-I
. AL B-IV, C-I, D-TI
A-IV, B-1II, C-1, D-1I
. AL, B-II, C-TIL, D-IV

Choose the correct answer from the options given below:

Yail-1 & A1 Feil-11 D1 forei FHife :

I mﬁﬁ?ﬁ'ﬂﬂﬂ 11 (areraon Rsia)
A [5O0 BIm T 1[99 T Soul ar I (S0 ogd § WP Bid £
B |3 g 11 [CFYRT 3R I(S1-31G & B AT @I Saa
. 0T R {fcH Gie® ald 3aidels aRl URHINd (Shlsrs) T8 H (0] @I
C. 7] ;d §)) I | . :
T VSR
D. %ﬂ%; FUdRe (Ger- a1 & P AU & St Ugd SaaeRefed Bl T
14 fau U fasedl © 8 el 3R &1 90 S -
1. A-IV, B-III, C-II, D-I
2. A-IIL, B-IV, C-1, D-II
3. A-IV, B-III. C-1. D-II
4, AL B-II, C-III, D-IV
1) 1
() 2
3) 3
(4) 4
1[Option ID=4473]
2[Option ID=4474]
3[Option ID=4475]
4[Option ID=4476]
Sl. No.70
QBID:182070
Mateh List I with List IT
LISTI LISTII
A |Acid Phosphate I |Faeces
B. [Jaffe Reaction II. [Blood
C. [Edelman Test I1I. [Urine
D. [Kastle-Mever Test] IV. [Semen

b =

e

1) 1
(2) 2
(3) 3
(4) 4

. AL, B-II, C-IIL, D-IV
A-IL B-I, C-IV, D-TII
A-IV, B-III, C-1. D-II
A-IIL, B-II, C-IV, D-I

localhost/ntareportsqp/qPprint.aspx

Choose the correct answer from the options given below:
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Yeil-1 & F1Y Yeil-11 BT forei SHife :
LISTI LIST I
A [UldE wrEhe I [{d
B. [ RugeH il Lo
C._[SSTHT WI&0T |1 73
D. [®1ad TR glgm| v [3d

i feu T fawedl o 9 Tl SR &1 907 DI ;

. AL B-II, C-IIL, D-IV
. A-II, B-I, C-IV, D-II
. A-IV, B-II, C-I, D-II
. A-IIL, B-II, C-IV, D-I
(11
(2) 2
(3) 3
(4) 4

L b

o

1[Option ID=4477]
2[Option ID=4478]
3[Option ID=4479]
4[Option ID=4480]

Sl. No.71
QBID:182071

Mateh List I with List IT

List I (Name of Drug) List IT (Shape of Crystal)

. |Cocaine I. [Forked rods

IMDMA II. |White X shaped

Methamphetamine| [I1 [X shaped crystals bisected by a barbed rod
_ |Amphetamine IV [Long Yellow rods

o|o|w|>

Choose the correct answer from the options given below:

1. A-II, B-III, C-IV. D-I
2. A-IIL B-IL, C-I, D-IV
3. A-IIL B-IV, C-I, D-II
4. A-L, B-IL, C-III, D-IV
11
(2 2
(3) 3
4 4
el 13 1Y Il 11 1 e SIS |
[=H-1 (AR Uerd & =) Hal-11 fohved @1 ATPI)
A [@idH I [Plds s
B [tnEitgud I [{ha X PR
C. [Humhemrs M1 [BIZGR s gRI [gHINd X AR & fhied
D. [ufEpearE V. [dd Ui 359
= feu e faeedl o 9§ Tl STk &1 90 DI ;
1. A-IL, B-III, C-IV, D-I
2. A-IIL B-IL, C-I, D-IV
3. A-IIL B-IV, C-I, D-II
4. A-L B-IL, C-III, D-IV
11
(2 2
(3) 3
4 a

1[Option ID=4481]
2[Option ID=4482]
3[Option ID=4483]
4[Option ID=4484]

Sl. No.72
QBID:182072
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Match List I with List IT

82_Forensic Science

List I (Additives) List IT (Action)
AL |Stablizers I. feduce the flame temperature
B. [Platicirers I1. jincrease shelf life of propellant
C. |Coolants II1. freduce burning rate of grain surface
D. |Surface moderants| IV. |zelation of nitrocellulose

da ko —

. AL, B-II, C-II, D-IV
. A-II, B-IV, C-1, D-TII
. AJIL B-II, C-1, DIV
. A-II, B-I, C-IV, D-III

(1) 1
(2) 2
(3) 3
(4) 4

a1 & Ty G 11 1 Heq Sifee -

Choose the correct answer from the options given below:

A

Leifi

. [@m® 1. [oTl &l AU ®H &l &

T eg@n! | 1L [idde &

Ih A5 @ 9eidl &

EGIEE 111 [qT9d el & oI ) add &l 9gldl g

g|o|w| =

_ [orRE mredey| v [T el @ feeRE

A-L B-II, C-TII, D-IV
. A-II, B-IV, C-1, D-TII

1
2
3. AL B-I1, C-1, D-IV
4,

AL B-L, C-IV, D-III

1) 1
(2) 2
3) 3
4) 4
1[Option ID=4485]
2[Option ID=4486]

3[Option ID=4487]
4[Option ID=4488]

i< faU U fdedl & gl Gk &1 90 I :

Sl. No.73
QBID:182073

Match List I with List IT

List I (Internet Computer g s
( ; P List IT (Description)
Crime)

A |Intrusion 1. |Replacing or modifving part of a computer svstem to facilitate an authorized access
B. |Compromise II. |Sending unsolicited messages usually emails

e . A program which open access to a machine from the outside to allow an unauthorized
C. |Spamming I |. S i

= intruder into the machine

D. [Back door IV, |It involves obtaining unauthorized access to a computer

1
2
3
4

. A-IV, B-1, C-II, D-TII
. AL, B-III, C-IV, D-II
. A-II, B-III, C-IV, D-I
. AL BI, C-IL, D-IV

(1)1
) 2
(3) 3
(4) 4

localhost/ntareportsqp/qPprint.aspx

Choose the correct answer from the options given below:
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Match List I with List IT

Fﬁlﬁfmﬂgm -1 (@mEm

A [Bzud L |3FT¥dd SHIEATH b oL R YUlTcl db HIT I YIaeTYH J1 3UiaRul

B. [GuERES 11 [3ATdféa Som 9Emadl 3-.5a § Yol

c lam 11 [FE T Fod aTeX § A ad STHTH SUde gidl ¢ dlid HAadd gIaraar
' " [ # ugT W

D. [d®SR IV, [38H $eR H SHU%d SATHTH S g

14 feu Tt faeedl o 9 9ol 3Tk &1 98- DI ;

1. A-IV, B-1, C-1I, D-I1I
2. A-L, B-III, C-IV, D-II
3. A-II B-III, C-IV, D-I
4. A-IT1, B-I, C-II, D-IV

1) 1

2) 2

3) 3

(4) 4

1[Option ID=4489]

2[Option ID=4490]

3[Option ID=4491]
4[Option ID=4492]

Sl. No.74
QBID:182074

Match List I with List IT

LISTI LISTII

Sinele Shot The revolvers mn which on pressing the cvlinder latch on the side of frame and pushing the
A Pi:rzole % I |eylinder to the left exposing the chambers is swing back after loading into the frame

i 1A pistol has one firing chamber integral with the barrel. loaded manually each time the weapon

Swing-out - =
B. IL. |is to be fired.

revolver
C. [Derringers II1. |A rifle with shortened, barrel.
D. |Carbine IV. |Small pocket firearms having multiple barrels, each of which 1z loaded and fired separately

Choose the correct answer from the options given below:

AL B-L, C-IV, D-II
. A-L, B-III, C-IL, D-IV
AL B-I, C-IV, D-III
. A-II, B-TII, C-IV, DI
(1) 1
) 2
3) 3
(@) a

el 13 91 i 11 BT e Pife :

da Lo b

I T I

RealeaR forad 1 o Ur4 TR RTeieR ®f [ue bl Gards [gices ®f arl G H Yhad
A R fIeT| L loog 5 s et 5 9 15 o S el S 3 2

p [RET-3Se i Rl H T BT TR ol & off A1d § 9[S1 51dT 5. J® aR giUdR gl o R 39
Rl 1SS ERIEGIE

C. [eReR 111 [S1c] AI1d arell A3ha

. [ Tidhe spaRd ForaH @3 A1d gid & foH O Udd H el J SRy H offdl & 3R
D. [FrafzA v Y ¥

i fau ¢ fdshedl & ¥ gl 3R BT 994 il :

1. AL, B-I, C-IV, D-II
2. A-L, B-II, C-II, D-IV
3. A-IL B-I, C-IV, D-TII
4. A-IL, B-IIL C-IV, D-I

1) 1

(2) 2

(3) 3

(4) 4

localhost/ntareportsqp/qPprint.aspx
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1[Option ID=4493]
2[Option ID=4494]
3[Option ID=4495]
4[Option ID=4496]

82_Forensic Science

Sl. No.75
QBID:182075

Match List I with List IT

LISTI LISTII
A [Microprinting I |Dandv roll
B |[Water marks II. |Passport
C. [Hologram I11. [D1fficult to read by naked ey
D. [Fluorescent fibreg| IV. |3-D laser printed image

R U T

. A-I, B-III, C-IV, D-II
. AL B-I, C-IV, D-II
. AL B-III, C-I, D-IV
. A-IIL, B-IV, C-II, D-I

1) 1
2) 2
3) 3
(4) 4

il 19 I1Y i 11 BT e DI :

Choose the correct answer from the options given below:

1[Option ID=4497]
2[Option ID=4498]
3[Option ID=4499]
4[Option ID=4500]

T 1 T 0

A At mieT I [estdad

B. [arexdrdd 11 [qrgare

C. [glamm TIL. ([ G-81eH T 39di [ a1 3ial I U H die-Tg
D. [1éia <3 (Feiie Biges) | IV, [3a qor disd ©dl
i feu e fawedl § ¥ gl SR &1 99 DIl ;

1. A-L, B-III, C-IV, D-II

2. A-IIL, B-1, C-IV, D-II

3. AL B-IL C-I, D-IV

4. A-III, B-IV, C-II, D-1
(1) 1
() 2
(3) 3
4) 4

A
B
B
D
E

3
4

b2 =

Sl. No.76
QBID:182076

The sequence of moleculer weight of primary explosive is :

. Mercury Fulminate
. Lead azide

. Lead styphnate

. Silver azide

. Tetrazene

A>B>C>D>E
.B>A>C>D>E
. C>B>A>E>D
.D>E>C>B>A

(1)1
) 2
(3) 3
(4) 4

localhost/ntareportsqp/qPprint.aspx

Choose the correct answer from the options given below :
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Frfafad Ty [dpics! @1 3k 3HiUad YR & 38R Jgiferd o :

A T4 Hafe

B. WS 9SS
C. o fem=R

D. RiedR o5 s
E. ¢2Ifo

14 feu e fasedl § 9§ 9el 3R &1 994 Siiu|

A=>B>C=>D=>E
.B>A>C>D>E
.C=B=A>E>D
.D>=E>C>B=A
1)1
(2) 2
3) 3
(4) 4

b2 =

Y

1[Option ID=4501]
2[Option ID=4502]
3[Option ID=4503]
4[Option ID=4504]

Sl. No.77
QBID:182077

Arrange the following liquids in,increasing order of its density.

A Kerosene

B. Xylene

C. Nitrobenzene
D. Bromobenzene

Choose the correct answer from the option given below :

1.C.D.AB
2. BCDA
3.AB.CD
4.D.AB.C

1) 1

(2) 2

(3) 3

(4) 4

I 9@ P YR R FRad soai @ 9gd HH H o |

A BRINA
B. SgaiA

C. Ecia=a
D. SiTHE

1.C.D.AB
2.B.CD.A
3.AB.CD
4. D.AB.C

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=4505]

2[Option ID=4506]

3[Option ID=4507]
4[Option ID=4508]

Sl. No.78
QBID:182078
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Normal sequence (minimal to severe) of fire progression is :

A. Incipient

B. Oxygen regulated smoldering
C. Emergent smoldering

D. Free burning

Choose the correct answer from the options given below :

LA B C.L)
2 :

.A.C,B
AC B
.D.C.B.

Bow
"oy

(1) 1
(2) 2
(3) 3
(4) 4

M & HYITHA BT VYR HH (@H ¥ wame) 37 -
A URfiS
B. Hig¥IoH faTaftrd gar

C. FeITH A
D. T4 &g

i feu e famedl § ¥ T8l 3R &1 994 Sill

K HGT

w g

1
2. A,C,B,
30 A CD,
4.D,C,B,

b

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4509]
2[Option ID=4510]

3[Option ID=4511]
4[Option ID=4512]

Sl. No.79
QBID:182079

The sequence of vapour pressure at 20°C of components of gasoline is :

A Toluene

B. Iso-pentane
C. Iso-hexane
D. n-hexane
E. n-heptane

Choose the correct answer from the options given below :

A>B>C>D>E

.B>C>D>E>A
3.B>D>A>C>E
4.C>A>B>D>E

1

@ 2

@) 3

) a

[
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I & GRP1 Dl 37 AT ST & STHR Fifoid P :

A. e

B. AEHI-U<
C. ASI-ZFA
D. A a-gaT
E. AHa-8pA

14 feu e faeedl § 9§ 9el 3R &1 994 By

A>B>C>D>E

.B>C>D>E>A
3.B>D>A>C>E
4.C>A>B>D>E

(11

(2) 2

(3) 3

(4) 4

[

1[Option ID=4513]
2[Option ID=4514]
3[Option ID=4515]
4[Option ID=4516]
Sl. No.80
QBID:182080

Arrange the following, on the basis of characteristics around the entry wound, in sequence for determining the
range of firing.

A. Scorching

B. Non-volatile products of combustion
C. Unburnt powder grains

D. Blackening

Choose the correct answer from the options given below :

1.4, C/B,D
2.D,A,C,B
3.B,A,D.C
4.A,D.C,B

1)1

(2 2

(3) 3

(4) 4

fAifara 1 Tl 9a o9 & ORI &SGR 8 I3 & B1d $ 54 118 & A i & SMuR W)
3T H AU DI :

A @ﬂﬂ:ll
B. &g o Hargeiid Ide

C. femTr STat gU (srefeae) aee & 3T
D. I US &1

i feu e famedl § 9§ T8l 3R &1 994 il

AR,
.D.A,C.B

w0

1[Option ID=4517]
2[Option ID=4518]
3[Option ID=4519]
4[Option ID=4520]

Sl. No.81
QBID:182081
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Arrange the following liquids in decreasing order of their refractive index.

A. Methylene iodide
B. Methyl Alcohol
C. Ethylene Glycol
D. Chlorobenzene

Choose the correct answer from the options given below :

B DA A

b =

D,
LA,
i B

Uﬂt:l:t:
D>ﬁﬁ

.B
.B
=B,

.h.t_.u

(1) 1
(2) 2
(3) 3
(4) 4

=i d 5al B 3796 U Ya®i & YR IR Ued H J oIaiyd Bl :

A. [idieF smarsgs
B. fuEd sremiga

C. siUdH g

D. FARE I

i feu e famedl © 9 U8l SR &1 99 S|

npow

N
BorU
PO0N0
Oww e

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4521]
2[Option ID=4522]

3[Option ID=4523]
4[Option ID=4524]

Sl. No.82
QBID:182082

The chronological order of various fingerprint classification is :

A Tripartite classification

B. Battley single digit classification
C. Argentine system (vucetich)

D. American classification

E. Henry classification

Choose the correct answer from the options given below :

1.ABCDE
b

no 0l
D
R BeReN:
trf b b

e L

(1)1
) 2
(3) 3
(4) 4
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STeH-BTY wrai A= arffexun &1 FTasaraR SaieH ol ghRT?
A. ety ffexo

B. §¢d UHd 3% aIpum
C. Jot-eTs-l e (@afew)
D. AR

E. BTN @il

14 fau Tt faedl § 9§ 9l 3R &1 994 By

1[Option ID=4525]
2[Option ID=4526]
3[Option ID=4527]
4[Option ID=4528]

Sl. No.83
QBID:182083

The sequence of coefficient of friction on automobile tyre is :

A. Dry Asphalt
B. Mud

C. Gravel

D. Ice

Choose the correct answer from the options given below :

1.LA>B>C>D
2.A>C>B>D
3.A>B>D>C
4 B>A>C>D

11

2) 2

(3) 3

(4) 4

A6 & SRR & [ Idg R 5 aTdl TNl &1 S H &l g
A gEISTR
B. Hids
C. goRl
D. %
9 feu e fadenl § ¥ Iel SR &1 704 Pifog

1.LAB=C=D
2A>C=B=D
33JAB>D=>C
4. B=A>=C=D

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=4529]
2[Option ID=4530]
3[Option ID=4531]
4[Option ID=4532]

Sl. No.84
QBID:182084
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The sequence (from neck towards head) of parts of supralaryngeal vocal tract (SLVT) is :

A Vocal Folds

B. Pharynx

C. Laryngo - Pharynx
D. Soft Palate

E. Nasal Cavity

Choose the correct answer from the options given below :
ABC,DE

.A,C.B.D,E
.A,D,B.C,E
.C,B.A,D,E

ko =

C.
D,

e L

1) 1
(2) 2
(3) 3
(4) 4

TR $od TR A0®] (TH.UT.41.8) F 65 &1 94 (o 9 RR 3T 3iR) #4187

A TR

B. G

C. P T
D. Hg dIg

E. F1RY1 76T

i feu e famedl © 9 U8l SR &1 99 Il |

1[Option ID=4533]
2[Option ID=4534]
3[Option ID=4535]
4[Option ID=4536]

Sl. No.85
QBID:182085

Choose the correct sequence, out of the following, with respect to age changes in the surface bone of sternal
rib ends of humans from 19 to 70 years.

A. Smooth

B. More porous

C. Deteriorating

D. Light and porous

Choose the correct answer from the options given below :
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19 - 70 @Y 314 & Ha & (Ua5a g9l & g3l UIRd g ald 99 & 91y HE=fkiiad uRkad= oI a8t sa o
Tiford sifom |

A o
B. 3ffde TRy fice

C. 3uaT (fsfearfdm
D. el 3R fafed

=14 fau Tt faeedl © 9§ 9l 3R &1 994 S|

i banih e
WepnU
nowo
FPOprw
Onde

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=4537]
2[Option ID=4538]

3[Option ID=4539]
4[Option ID=4540]

Sl. No.86
QBID:182086

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : Harrison and Gilroy's test is not popular.
Reason (R) : Because it gives unstable colours, the three element interfere with one another and the results are

not quantified
In the light of the above statements, choose the most appropriate answer from the options given below ;

. Both (A) and (R) are correct and (R) is the correct explanation of (A).

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
. (A) 1s correct but (R) 1s incorrect.

. (A) is incorrect but (R) is correct.

1) 1

) 2

3) 3

4) 4

=9 3 PU RUTL § : T 31U Assertion (A) & F9 T [ARAd § Al G¥RT 39D PRI Reason (R) P
F9H:

3 Y A : 09 SR filerTa uRkarmn y=ferd 761 8 )

PRUIR : i 5o SRl aul 3 §ial 8, U il dcd U gk H %8 B § SR 390 Uiahd 3l
a1 FefRa el el 81

SRIF] DY & el H, i [3U 7 fadedi & 4 968 SUgw SR P1 99 S|

(A) 3R (R) I 81 § 3R (R), (A) DI YS! AR 51

(4) 3R (R) &I T E, DA (R), (A) P Ul SURAT L B
(A) U8l 5, Tl (R) ol 76l 5

(A) TET 981 €, Afd (R) TEL B

o

1
2
3.

4.

1[Option ID=4541]
2[Option ID=4542]
3[Option ID=4543]
4[Option ID=4544]

Sl. No.87
QBID:182087
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The principle behind ion mobility spectrometry, the technology involved for portable
instruments for the detection of explosives or illicit drugs, is based on separation of ions through a drift tube
using a gas phase.

Reason (R) : In this technique the sample is initially ionized forming a negative ion and accelerated by an
electric field into the drift tube through a Shutter. As the ion exit the drift tube they are counted electronically
by a Faraday cup.

In the light of the above statements. choose the most appropriate answer from the options given below :

. Both (A) and (R) are correct and (R) is the correct explanation of (A).

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
. (A) 1s correct but (R) is incorrect.

. (A) 1s incorrect but (R) is correct.

1 1

) 2

3) 3

(4) 4

19 3 PUF R TL § : T 31U Assertion (A) & F9 H AR § dl G¥RT 39D BRI Reason (R) P
F0H:

YA A« ST TS Wagc! o1 Risia 16 a1 ¥ {57 @ & T1e0| ¥ S{1E=] & giaaso
W%ﬂfﬁﬂﬁﬁ%lﬂﬁﬂﬂﬂﬂﬁﬁ?ﬂﬁwwﬁmaﬁﬂ 3{NiY & HY=A & fo1U g+ JuSRUN H a1
S|

BRUIR : 38 ad-11d 1 URY T 100 &1 310 T (6a1 A1l ¢ forasl B0 &1 HHfl g1 g $iR
faYciig & GRT @Rd SIR Yer & SINT [0 ed O 91 Sl ¢ | o/ 319 (g0 & 9§ fifa g g <
TRIS B9 GRI U1 SAa - Ae0H I TUET S ol ¢

SIRIFI DY & el H, i 3T 7 fadedi & 4 968 SUugwd SR P1 98 ST

1. (A) 3R (R) 3 @1 § 3R (A), (R) BT TS TR &

2. (A) 3R (R) IFT 961 &, TP (A). (R) P FE1 AT 721 &
3. (A) Ul &, dfehd (R) TeT 78] &

4.(A) HET 761 &, Wi (R) WE1 81

b =

S )

1[Option ID=4545]
2[Option ID=4546]
3[Option ID=4547]
4[Option ID=4548]

Sl. No.88

QBID:182088
Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Luminol or 3-aminophthalhydrazide, luminesce after oxidation in acid or alkaline solution.
Reason (R) : Various oxidizing agents could cause the luminescence in acidic solution and positive results are
observed with old as well as fresh blood stains.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) 1s incorrect.
4. (A) is incorrect but (R) is correct.
1 1
) 2
3) 3
(4) 4
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19 3 FYF QUL § : TP 3IMUHUA Assertion (A) & F9 H [ARAd § dl G¥RT 39D BRI Reason (R) P

F=0H:

grf\wzﬁzx:?qfh:ﬁam 3-SR BT gIoes SR I &R1Y faag § Seiexul & are auedl
1

PRUR : &= sraiioR® sifiets sady g B Haic Ual &R 9@d g AR U a4l ], S

UHR &, Tad-4ed] § YHRIHD URUTH ST g |

TR HY P el T, Hiid 3 7Y fabedl T 8 9a8 IUga STk &1 90 DIy |

1. (A) 3R (R) EFI T8 § 3R (R), (A) T Tel TR B
2. (A) 3R (R) T W61 §, A (R), (A) B! g1 oITEAT 6] o
3.4

(

.

A) Tel 8, AT (R) T TR 81
A) T e ®, A (R) TSI B

4,

1[Option ID=4549]
2[Option ID=4550]
3[Option ID=4551]
4[Option ID=4552]

Sl. No.89
QBID:182089

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Agsertion (A) : The range, the impact of wound and the reliability of improvised firearms vary so much that no
generalization of their effects can be safely made.

Reason (R) : No two improvised firearms, firing ammunition of the same make and batch, will give similar

results.
In the light of the above statements. choose the most appropriate answer from the options given below :

. Both (A) and (R) are correct and (R) is the correct explanation of (A).

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
. (A) is correct but (R) is incorrect.

. (A) is incorrect but (R) is correct.

(1) 1

(2) 2

3) 3

(4) 4

:ﬁﬁagrmﬁnw%‘ - U® HTUHYT Assertion (A) F =0 H fIEd T Il ST 3P PRI Reason (R) &
=0H:

HIYBUF A - TG ARG B IR, SHD! Jy=RITd AR [ym=Taar § ga-t sifee fi=rar gl 8 i
TP YU & ey § I 60 61 [hal off 9edl o

PRUIR : B3 & TG 3F0Rd o] g91ae 3R 99 H1 U o1 81 & Tl 9arg o &1 Srasfad 9
% IO TRU ST gl 8

TWRIT DY o 3ffelid |, A 3T 70 fadedl & I Y99 U SR D1 G- BTN :

1. (A) 3R (R) 3 W61 § 3R (R), (A) BT TS RS B

2. (4) 3R R) Gl LT &, TP (R), (4) P el IR el B
3. (A) Wel 5. 9 (R) TRl 7o o

4. (A) T Tl §, Wi (R) TR B

b =

ER VY

1[Option ID=4553]
2[Option ID=4554]
3[Option ID=4555]
4[Option ID=4556]

Sl. No.90
QBID:182090
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Given below are two statements :

Statement [ : Factors like moisture, UV light, high temperature, facilitate the nonenzymatic hydrolysis of RNA
phosphodiesters, leading to degradation of RNA.

Statement II : Endogenous ribonucleases (RNAses), present within cells, represent the major factor causing
RNA degradation.

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement I are correct

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement IT is correct

1 1

@) 2

(3) 3

(4) 4

Y : TH, WG UBT91, 3 AI9HH ol PR HR.UH 1. BREBISETEY & TR-T-RHY 5d-

e B IR ST ¢ foRY SIR.UA.U. HT ashH0 gl g

%u%%:mﬁaﬁﬁm@mﬁaﬁﬂmwmqﬁwmaﬁrg@wﬁ
|

JWRITT Y & el H, =i 34U T faeredl & 3 Ga9 SUgT IR &1 99 BIolU -

HUIARIEH A §

HY IR I EFI ST §

FHUTITI S, AP HYT 11 3T §

I E B e R R A B

1) 1

) 2

3) 3

(@) 4

b3 =

e W R =

1[Option ID=4557]
2[Option ID=4558]
3[Option ID=4559]
4[Option ID=4560]

SI. No.91
QBID:182091
Read the following passage carefully and answer the questions that follow:

A female reported the Sub-Divisional Magistrate of her locality. that her husband had attempted to murder
her by strangulation. On examination, bruise like marks were noticed on both sides of the front of the neck.
The skin around these marks was inflamed and covered with tiny blisters. Similar marks were noticed on her
palms and tips of the fingers. On futher examination, these marks were found to have been caused by the
application of the juice of marking nut.
rfeRad &1 ug oiR e fqu M u=Al & IR i -

T O A 39 3a1d & qa-$fauma Afvree o1 Rard foar i 39@ fa 3 39! 7Te ga1 HR
B DA DI DI Pl | TRI&U B TR, THD T D FHA dTel (8- & G GrRa | 0= =ierg & (=1
70 10| 54 T & S9-08 &1 @dl IR go o, 3R 950 oic-0ic 31d 31 X ave & ¥ SHd!
gaferal SR Inferdl @1 Hid] o= off 41| iR Sif¥e 7T URlaiml & are udT 9a {6 4 == iyt @b
TO) P F W 44 B

Taken in larger doses, Marking Nut produces :

A, Blisters on the throat

B. Convulsion

C. Gastro-intestinal irritation
D. Sedation

Choose the most appropriate answer from the options given below :

1.B and C only
2. Aand B only
3. Aand C only
4, C and D only

1) 1

2) 2

3) 3

4) 4
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i =g (Firemat) <iffe A & 969 ¥ =fafed oRomm sl aed © -

A AT BT
B. ®-aa¥H
C. SR e (RS -5-03eI31d SRexH)

D. I (Rg9m)
i fGu T fas el § 9 Tel SR &1 994 Biu|

1. FEAB AR C
2. %Had A AR B
3. PaTARC
4. %$aAC AR D

1

() 2

3) 3

(@) 4

1[Option ID=4561]
2[Option ID=4562]
3[Option ID=4563]
4[Option ID=4564]

Sl. No.92
QBID:182092
Read the following passage carefully and answer the questions that follow:

A female reported the Sub-Divisional Magistrate of her locality. that her husband had attempted to murder
her by strangulation. On examination, bruise like marks were noticed on both sides of the front of the neck.
The skin around these marks was inflamed and covered with tiny blisters. Similar marks were noticed on her
palms and tips of the fingers. On futher examination, these marks were found to have been caused by the
application of the juice of marking nut.

FfaRad @1 u¢ SR - fau 10 u=Al & IR difo -

U Ol A 39 sa1a & Ya-$fauma ffoRee &1 Rard foar i 39@ ufd 3 39! 7Te ga1 H1
BN B3 B DI B | TRIE0T P TR, FHP el & Y arel f6 W & &1 uredl R A1ed & F=ie
70 10| 54 T & S9-08 &1 @dl IR go o, 3R 950 oic-0ic 31d 31 X ave & ¥ SHd!
gaferal SR Inferdl @1 Hid] o= off 41| iR Sif¥e 7T URlaiml & are udT 9a {6 4 == iyt @b
TO) P HF T4 B

Marking Nut belongs to which of these category :

. Hypnotic

. Irritant

. Proteinous
. Cardiac

(1) 1
) 2
(3) 3
(4) 4

A1 e (et Fefentad & 3 feg 4ult 7 s g -

. gD
2. TRIATES (31%e)
3. UM
4. GG
1) 1
() 2

3) 3
(4) 4

B R

1[Option ID=4565]
2[Option ID=4566]
3[Option ID=4567]
4[Option ID=4568]

Sl. No.93
QBID:182093
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Read the following passage carefully and answer the questions that follow:

A female reported the Sub-Divisional Magistrate of her locality. that her husband had attempted to murder
her by strangulation. On examination, bruise like marks were noticed on both sides of the front of the neck.
The skin around these marks was inflamed and covered with tiny blisters. Similar marks were noticed on her
palms and tips of the fingers. On futher examination, these marks were found to have been caused by the
application of the juice of marking nut.

fefafEd &1 9 ok - fu 7 u=Ai & SR difoe -

% Ofgd 4 30 3a1 & Ya-fSfauma dforee o fad fovan i 3 ufd A S9! e ga ax
T TR D1 DI DI | TRI&0 PR TR, TP 10 P TH aTel 6wy P &A1 GI=a| 0% A1erg= & =2
T 10| 54 T & S9-0 &1 @d] IR go 2, 3R 950 oic-gic 31 U1 X ave & (I SHa!
gaferal ofR Jniferdl @1 il o= off UT| iR 318 7T URleimn & are udT 9a o 3 (== iyt @b
O PGS I B

Who is authorized to register her complaint (FIR) ?

1. SDM
2. Police
3.CBI
4, Magistrate
1) 1
(2) 2
3) 3
(4) 4

=9 Tfee 31 R Ruid (U9 3118.91R.) &= 31 & o 319 sififgd &2
1. TgSlun.

2. gfa
3. 9l afe.
4. 0RRRe
1) 1
() 2
(3) 3
@) 4
1[Option ID=4569]
2[Option ID=4570]

3[Option ID=4571]
4[Option ID=4572]

Sl. No.94
QBID:182094

Read the following passage carefully and answer the questions that follow:

A female reported the Sub-Divisional Magistrate of her locality. that her husband had attempted to murder
her by strangulation. On examination, bruise like marks were noticed on both sides of the front of the neck.
The skin around these marks was inflamed and covered with tiny blisters. Similar marks were noticed on her
palms and tips of the fingers. On futher examination, these marks were found to have been caused by the
application of the juice of marking nut.

fefafEd &1 9 ok - fu 7 u=Ai & SR difoe -

% Ofgd 4 30 3a1 & Ya-fSfauma dforee o fad fovan i 3 ufd A S9! e ga ax
T TR D1 DI DI | TRI&0 PR TR, TP 10 P TH aTel 6wy P &A1 GI=a| 0% A1erg= & =2
T 10| 54 T & S9-0 &1 @d] IR go 2, 3R 950 oic-gic 31 U1 X ave & (I SHa!
Bl SR Inierl &t et o= o U411 3R 311¥e T8 Wigfur & a1g udl = o5 I =11 framat (@i
TOFIF T I

The juice of marking nut causes death if applied to :

. Vagina

. Bar

. Serotum
. Fingers

(1) 1

(2) 2

(3) 3

(4) 4

i e (FyaTar) &1 T8 Pal YA $3- IR I 81 9o 87
1.3
2.BH
3, HSBIY
4. Jniferat
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4573]
2[Option ID=4574]

3[Option ID=4575]
4[Option ID=4576]

Sl. No.95
QBID:182095
Read the following passage carefully and answer the questions that follow:

A female reported the Sub-Divisional Magistrate of her locality. that her husband had attempted to murder
her by strangulation. On examination, bruise like marks were noticed on both sides of the front of the neck.
The skin around these marks was inflamed and covered with tiny blisters. Similar marks were noticed on her
palms and tips of the fingers. On futher examination, these marks were found to have been caused by the
application of the juice of marking nut.

fefafEd &1 9 ok - fu 7 u=Ai & SR difoe -

% Ofgd 4 30 3a1 & Ya-fSfauma dforee o fad fovan i 3 ufd A S9! e ga ax
T TR D1 DI DI | TRI&0 PR TR, TP 10 P TH aTel 6wy P &A1 GI=a| 0% A1erg= & =2
T 10| 54 T & S9-0 &1 @d] IR go 2, 3R 950 oic-gic 31 U1 X ave & (I SHa!
gaferal ofR Jniferdl @1 il o= off UT| iR 318 7T URleimn & are udT 9a o 3 (== iyt @b
T0) B IG S TG & B

Marking Nut could have been procured from :

1. Supermarket
2. Laundry
3. Beetle shop
4, Ayurvedic shop
1) 1
2) 2
(3) 3
(4) 4

i Fe (Fuemal) wef ¥ wr fom mar g

1. R Al
2. c1|r§’%cbu5 Y- DI gBHM)
3. OF &I gPH
4. YA Pl gPH
1) 1
(2) 2
(3) 3
(@) 4

1[Option ID=4577]
2[Option ID=4578]
3[Option ID=4579]
4[Option ID=4580]
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Read the following passage carefully and answer the questions that follow:

A chromatographer was given a mixture containing 4 analytes namely W, X, Y, Z to be separated using
High Performance Liquid Chromatography (HPLC). The HPLC was an isocratic system, a C-18 column (C-
18,250 mm x 5 mm) and has UV detector. The chromatographie data obtained iz given as under :

Analvyte Retention Time (tnin) Width of Peak at base (min)
Non Retained 31 —
W 54 041
X 13:3 107
¥ 141 116
216 172

Z
fAefafad of ud sik = e 0 ueai & SR i -
ot auicrae @ 4 fawerdt st w, x, v, z siafdy sy fear man 5 3= ord e emar ara
%d quicra! (T4 Ut Ta T &1 Tai &R 9y faan ST o1 U i Ua 9t 99ihd (Sigdichicd) Wome
ToTeT U@ C-18 BITH (C-18, 250 mm x 5 mm) AR J I YIS ¥ | W qoicrd! & TR § |

ot | ufouRmi &g (@) | 0 @t ffiwam Arsts (fFFe)
I feeq 3.1 -

W 54 0.41

X 133 107

Y 141 116

z 216 1.72

From the obtained chromatographic data, calculate the retention factor for the analyte “W-.

.0.54
.0.74
. 3.40
A2
1)1
(2) 2
3) 3
4) 4

T guiardt 29 ¥ fawadt -we & ufquRY ‘<aRe: &1 uRear Sifom|

o Lo b =

1.0.54
2.0.74
3.3.40
4.1.22

1)1

(2) 2

3) 3

4) 4

1[Option ID=4581]
2[Option ID=4582]
3[Option ID=4583]
4[Option ID=4584]

Sl. No.97
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Read the following passage carefully and answer the questions that follow:

A chromatographer was given a mixture containing 4 analytes namely W, X, Y, Z to be separated using
High Performance Liquid Chromatography (HPLC). The HPLC was an isocratic system, a C-18 column (C-
18,250 mm x 5 mm) and has UV detector. The chromatographie data obtained iz given as under :

Analvyte Retention Time (tnin) Width of Peak at base (min)
Non Retained 31 —
W 54 041
X 13:3 107
¥ 141 116
216 172

Z
frefafaa @1 9 iR = 5T T8 usAl & SR dIfT -
ot auicrad & 4 fawerdt st w, x, v, z siafdy sy fear man 5 9= &1d fsares emar arat
%d quicra! (T4 Ul Ta 3T) &1 Wa1 SR 9y favan ST o1 U Ui U 9t 99ihd (Sgdihicd) Wome
oI U@ C-18 BITH (C-18, 250 mm x 5 mm) 3R J I WYAP ¥ | W qouicra! & TR |

Tt | sfouRm @ @) | 0w @t siftead 9ists ([FFe)
= freq 31 =

W 54 0.41

X 133 1.07

Y 141 1.16

z 216 1.72

What is the difference between the retention factor of analyte X and analyte Y ?

1.0.02
2.02
0.8
0]

1) 1
(2) 2
(3) 3
(4) 4

fzat x 3R fawerdt v & UfqeRU SRS & T 1 3R &

b L

1. 0.02
2:40:2
. 0.8
. 1.0
(1) 1
) 2
(3) 3
(4) 4

S )

1[Option ID=4585]
2[Option ID=4586]
3[Option ID=4587]
4[Option ID=4588]

Sl. No.98
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Read the following passage carefully and answer the questions that follow:

A chromatographer was given a mixture containing 4 analytes namely W, X, Y, Z to be separated using
High Performance Liquid Chromatography (HPLC). The HPLC was an isocratic system, a C-18 column (C-
18,250 mm x 5 mm) and has UV detector. The chromatographie data obtained iz given as under :

Analvte Retention Time (tnin) Width of Peak at base (min)
Non Retained 31 —
W 54 041
X 13:3 107
¥ 141 116
216 172

Z
fAefafad of ud sik = e 0 ueai & SR i -
ot auicrae @ 4 fawerdt st w, x, v, z siafdy sy fear man 5 3= ord e emar ara
%d quicra! (T4 Ut Ta T &1 Tai &R 9y faan ST o1 U i Ua 9t 99ihd (Sigdichicd) Wome

ToTeT U@ C-18 BITH (C-18, 250 mm x 5 mm) AR J I YIS ¥ | W qoicrd! & TR § |

ot | ufouRmi &g (@) | 0 @t ffiwam Arsts (fFFe)
I feeq 3.1 -

W 54 0.41

X 133 107

Y 141 116

z 216 1.72

As a chromatographer, to decrease the retention time of analyte Z without altering the retention time of other
compounds what modification in the developed method should be proposed.

. Altering the composition of mobile phase

. Increasing of flow rate after elution of analyte Y
. Removing of analyte Z from the mixture

. Replacing with a C-8 column

(1) 1

(2) 2

3) 3

(4) 4

quidE® & U H 39 gifta! & UiduRu & § ulad e 5= fawetdt z &1 viyRy & ved &
foru fae i faftr & foeg SuieRur &1 duil &1 9t =91feT

1. OIETSd W1 &1 S 5 uRada
2. ozt v & &iiei & U=ETd 9alg &) § i Bl
3. Thrgor ¥ fawedl z 1 g
4. C-8 W™ T ufcmiud &A1
(1) 1
(2) 2
3) 3
(4) 4

o b

1[Option ID=4589]
2[Option ID=4590]
3[Option ID=4591]
4[Option ID=4592]

Sl. No.99
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5w U C-18 BITH (C-18, 250 mm * 5 mm)

Analvte Retention Time (tnin) Width of Peak at base (min)
Non Retained 31 —
W 54 041
X 13:3 107
¥ 141 116
Z 216 172
f=aad o U SR == AU 70 u=ei & SR &t -

Tt | sfouRm @ @) | 0w @t siftead 9ists ([FFe)
= freq 31 =

W 54 0.41

X 133 1.07

Y 141 1.16

z 216 1.72

82_Forensic Science

Read the following passage carefully and answer the questions that follow:

A chromatographer was given a mixture containing 4 analytes namely W, X, Y, Z to be separated using
High Performance Liquid Chromatography (HPLC). The HPLC was an isocratic system, a C-18 column (C-
18,250 mm x 5 mm) and has UV detector. The chromatographie data obtained iz given as under :

ot auicrad & 4 fawerdt st w, x, v, z siafdy sy fear man 5 9= &1d fsares emar arat
%d quicra! (T4 Ul Ta 3T) &1 Wa1 SR 9y favan ST o1 U Ui U 9t 99ihd (Sgdihicd) Wome
IR g IgEe O e qofadt o AEER E

Looking at the chromatographic data, which range describe correctly the resolution of
Xand Y.

1. 100% resolved
2. Some where between 90% to 70%
3. Some where between 40% to 20%
4. 0% resolved

(1)1

(2) 2

(3) 3

(4) 4

gufeRd! ad @ 3ad gu AEfrd § Y P R X iR v & At F gt e s & -

. 100% fagifora

90% 9 70% & &d
40% T 20% & &g
. 0% Tagiford

1) 1

) 2

(3) 3

(4) 4

B

v

1[Option ID=4593]
2[Option ID=4594]
3[Option ID=4595]
4[Option ID=4596]

Sl. No.100
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5w U C-18 BITH (C-18, 250 mm * 5 mm)

Analvte Retention Time (tnin) Width of Peak at base (min)
Non Retained 31 —
W 54 041
X 13:3 107
¥ 141 116
Z 216 172
f=aad o U SR == AU 70 u=ei & SR &t -

Tt | sfouRm @ @) | 0w @t siftead 9ists ([FFe)
= freq 31 =

W 54 0.41

X 133 1.07

Y 141 1.16

z 216 1.72

(1)1
) 2
(3) 3
(4) 4

1) 1
(2) 2
(3) 3
(4) 4

1. Non polar in nature

2. Low in molecular weight

3. Having less affinity with stationary phase
4. Although the retention time is different but the physical property of both the analytes are similar.

82_Forensic Science

Read the following passage carefully and answer the questions that follow:

A chromatographer was given a mixture containing 4 analytes namely W, X, Y, Z to be separated using
High Performance Liquid Chromatography (HPLC). The HPLC was an isocratic system, a C-18 column (C-
18,250 mm x 5 mm) and has UV detector. The chromatographie data obtained iz given as under :

ot auicrad & 4 fawerdt st w, x, v, z siafdy sy fear man 5 9= &1d fsares emar arat
%d quicra! (T4 Ul Ta 3T) &1 Wa1 SR 9y favan ST o1 U Ui U 9t 99ihd (Sgdihicd) Wome
IR g IgEe O e qofadt o AEER E

From the obtained chromatographic data which one of the following correctly describe the analyte Z in
comparism to analyte W.

T quicidl & 9 Fifed # 9 fead fawadt w a1 gan | faxad z @ 981 e &1 7T o |

1. 3P UHTa gty It B

2. 591 g YR HHA B 6
3. FOR sfax § SHa! 2 Aaldiadl (@Y gidi ol
4. Tt yfduRur STe 349 giaT § faveg <l faaiftl & i 70 ue S9H §1d 6 |

1[Option ID=4597]
2[Option ID=4598]
3[Option ID=4599]
4[Option ID=4600]

Sl. No.101
QBID:1201001
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 2:1 7:3

afaRad IRolt 5 av 2020 H B: FRI A-F & Al &1 W=7 (R H) & 1 4oy 9 Higell 3R 9aR
fAR&R S UTd UafRid ¢ | IRl § URdd Sibsl & YR TR YY P IR GIIC:

SRS &1 TRAR Tdavon

afear | FReR
A 5.0 3=3 1:4
B 36 4:6 4:1
& 28 3:4 2:5
D 4.5 5:4 3:2
E 3.0 223 2:-3
F 3.0 P | T3

The ratio of the number of literates in City-F to that of City-A is:

LY o
78]
tn h

10

[+ S S ]
wow, PG

d=
98]

1)1
(2) 2
(3) 3
(4) 4

TR-F 3R TR-A & s HIgR Al Bl U DT UM G :

ad

1358
2,255
3.

1)1
(2) 2
(3) 3
(4) 4

1:10

[~ o B S I S

.
(%)

1[Option ID=401]
2[Option ID=402]
3[Option ID=403]
4[Option ID=404]

Sl. No.102
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 2:1 7:3

afaRad IRolt 5 ay 2020 H B: FRI A-F & Al &1 9= (| H) & 1 4oy 9 Higell 3R 9aR 4
fAR&R S UTd UafRid ¢ | IRl § URdd Sibsl & YR TR YY P IR GIIC:

SRS &1 TRAR Tdavon

afear | FReR
A 5.0 3=3 1:4
B 36 4:6 4:1
& 28 3:4 2:5
D 4.5 5:4 3:2
E 3.0 223 2:-3
F 3.0 P | T3

The numbers of females in City-B is % of the number of females in City-C.

d

e
th © ©

l
l
l
1

=
i b —

1)1
(2) 2
(3) 3
(4) 4

TR-C # Afgarsii & 9B & I1ve TR-B H Afgael & den %5 |

Tad

1.
2
3

'L\.

— = = =
o b —
h © O oo

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=405]
2[Option ID=406]

3[Option ID=407]
4[Option ID=408]

Sl. No.103
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 2:1 7:3

afaRad IRolt 5 ay 2020 H B: FRI A-F & Al &1 9= (| H) & 1 4oy 9 Higell 3R 9aR 4
fAR&R S UTd UafRid ¢ | IRl § URdd Sibsl & YR TR YY P IR GIIC:

SRS &1 TRAR Tdavon

afear | FReR
A 5.0 3=3 1:4
B 36 4:6 4:1
& 28 3:4 2:5
D 4.5 5:4 3:2
E 3.0 223 2:-3
F 3.0 P | T3

The numbers of illiterates is more than one lakh in:

1. All the six cities
2. exactly three cities
3. exactly four cities
4. exactly two cities
1) 1
(2 2
(3) 3
(4) 4

TP ara U AfF fFReRf @t 4B 6 -

1. gt & FRI A
2. Bl diF Rl 1
3. 3l® IR TR |
4. 31D A TR A

(1) 1
2) 2
(3) 3
4) 4
1[Option ID=409]
2[Option ID=410]

3[Option ID=411]
4[Option ID=412]

Sl. No.104
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City wise Distribution of Population

82_Forensic Science

The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 2:1 7:3

afear | FReR
A 5.0 3=3 1:4
B 36 4:6 4:1
& 28 3:4 2:5
D 4.5 5:4 3:2
E 3.0 223 2:-3
F 3.0 P | T3

1)1
(2) 2
(3) 3
(4) 4

1)1
(2) 2
(3) 3
(4) 4

1. 1.67
2. 072
3.1.08
4.1.52

1. 1.67
2.0.72
3.1.08
4.1.52

1[Option ID=413]
2[Option ID=414]
3[Option ID=415]
4[Option ID=416]

afaRad IRolt 5 ay 2020 H B: FRI A-F & Al &1 9= (| H) & 1 4oy 9 Higell 3R 9aR 4
fAR&R S UTd UafRid ¢ | IRl § URdd Sibsl & YR TR YY P IR GIIC:

SRS &1 TRAR Tdavon

The average of the total number of literates in Cities A, B, C and E together is (in lakhs)

TR-A, B, C 3R E H GHI ¥4 U $d HI&RI DI W& &7 3H4d ¢ (AR H) -

Sl. No.105

QBID:1201005
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 2:1 7:3

afaRad IRolt 5 ay 2020 H B: FRI A-F & Al &1 9= (| H) & 1 4oy 9 Higell 3R 9aR 4
fAR&R S UTd UafRid ¢ | IRl § URdd Sibsl & YR TR YY P IR GIIC:

SRS &1 TRAR Tdavon

afear | FReR
A 5.0 3=3 1:4
B 36 4:6 4:1
& 28 3:4 2:5
D 4.5 5:4 3:2
E 3.0 223 2:-3
F 3.0 P | T3

If the number of persons increases by 10% in City-B and by 12% in City-A in 2021 with respect to 2020, then
the ratio of number of persons in City-B to that of City-A in 2021 will be :

2l
.97 7120
255
.99 : 140
1) 1

(2) 2

(3) 3

4) 4

gid ay 2020 & GYer ay 2021 H ATl BT AT H TR-B H 10% 3R TR A H 12% B 9fa gl 8. d TR-
B 3R AR A ¥ el 1 Y= & o= 3=uTd g :

b b =

.

2

.97 120
2y
4.99: 140

1) 1

(2) 2

(3) 3

4) 4

LS S I
fad

1[Option ID=417]
2[Option ID=418]
3[Option ID=419]
4[Option ID=420]
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Which social media platform introduces one of the main features known as "super follows" ?

. Facebook
. Telegram
. Twitter

. Whatsapp
1) 1

) 2

3) 3

(4) 4

[T I SEAR He - 8 BIR # I U Bl - YR Bldle

1. hagD
2. T
3. feaer
4. gIeELY

1) 1

(2) 2

3) 3

(4) 4

W I =

=

1[Option ID=421]
2[Option ID=422]
3[Option ID=423]
4[Option ID=424]

Sl. No.107
QBID:1201007

Which theory and theorist are associated with learning through observation?

. Behaviourist theory, Skinner

. Constructivist theory, Piaget

. Social cognitive theory, Bandura
. Socio cultural theory, Vygotsky
1

(2) 2

(3) 3

(4) 4

fafeiad o oi-a1 faeid o fGidey Tam gry i 9§ Heifid g

1. TdgRaTE B Rieid, RER
2. GEIETG BT Rygid, foamst
3. ISR SRHTHSD Rigid, 51
4. FrHISID -k fad i, !
1) 1
() 2
(3) 3
(4) 4

W I =

da

1[Option ID=425]
2[Option ID=426]
3[Option ID=427]
4[Option ID=428]
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Given below are two Statements :

Statement I : The direction of flow of emotional energy is changed through the process of redirection and
sublimation from an undesirable goal to a socially desirable one.

Statement II : Catharsis is a desirable method in which channels are provided for the release of the emotional
energy.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1

(2) 2

3) 3

4) 4

e pyafeuug -

DHYA-1 : YHTHD Boll & UdTg ! [ faifesd ded I WHISID qifedd @8d Bt 3R TR 3R
eIl Hichal gRT URafdd eIl & |

DYA-11 ; fa¥=1 U difesd fafer g forgd damers Iui Hfad & feg difg iy yer &1 il & |
JWRIGd HY & 3Tl |, =i fU MU fddhedl & I gt IR 9894 DIfSY :

1. HYT IR I Id gl

2. FYFI AR I aHI T & |

3. FYF 1A g, Al HUA 11 A g
4. FUTI NI ¢, A YT 1 TA §

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=429]
2[Option ID=430]
3[Option ID=431]
4[Option ID=432]

Sl. No.109
QBID:1201009

What is the main aim of classroom management?

. To keep an orderly classroom

. To establish the primacy of the teacher

. To sustain a quiet environment

. To maintain a positive productive learning environment
1) 1

(2 2

3) 3

(4) 4

afaRad § &1--91 B YdeH &1 UHE 354 6 2

1. &1 Bl AR TG
2. AP DI YVAT RITTT PAT

3. Q[idl GG 0T ST G
4. GHRIHD IAIGADR] MENTH ardIaul (YRaLT) F41T 3G-]

(1) 1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=433]
2[Option ID=434]
3[Option ID=435]
4[Option ID=436]
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Sl. No.110
QBID:1201010

Match List I with List IT

82_Forensic Science

Bt Igz:;;iltaifocs List IT ( Programme)
P University Grants 1 Non-Technology post-
© |Commission (UGC) ©  |graduate degree programme
B i omsmyue o st I [Teacher training programime
© |Communication :
C INIOS (National Institute of I Non-Technology under-
" |Open Schooling) ___lgraduate degree programme
(AITTTE. Chennal (Hatignal Out of School Children
D. nstitute of T?c_hmca.l IV,  [|educational programme
[Teachers Training and th "
Resecarch) from class 9% to 12

Choose the correct answer from the options given below:

1. A-III, B-1, C-1V, D-11
2. A-I, B-1II, C-IV, D-II
3. A-IIL B-1I, C-I, D-IV
4. A-11, B-L, C-IV, D-1II

1) 1
() 2
3) 3
) 4
Gl 11 gt 11 9 fAaH Sifse
T 1 RTEH & (MOOCs)
BRERED) ?H@?\m
S — ey
A L .39 L WWGW
B. |dftm® wiworey I gﬁm;?um&m
VT S e R A
c. [RerdmmE@Iag | m Hige
By SuIy SrieH
AP dPIDI- DEN-9 Y 12 TP
D. |eremye Rig iR Wey | IV, (G & ol sl b

i faU U fadedi § U Tl IR &l 999 HIfeT :

1. A-III, B-1, C-IV, D-1I
2. A-l, B-1II, C-1IV, D-1I
3. A-III, B-1I, C-1, D-IV
4. A-I1, B-1, C-1V, D-II

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=437]

2[Option ID=438]

3[Option ID=439]
4[Option ID=440]

Sl. No.111
QBID:1201011

Use of theory in social science research is important as it provides:

1. Contrasting framework
2. Excess literature
3. Justification for research
4. Quantitative data

1) 1
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) 2
3) 3
(4) 4

AT 9 2y # Riid &1 Yaiv Agdqul ¢ Riifh g WeH Hdl @ -

1. AfRP! TUAET (ThHTD)

4. AETHD 3fiho

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=441]
2[Option ID=442]

3[Option ID=443]
4[Option ID=444]

Sl. No.112
QBID:1201012

A sample of respondents which is available to researchers because of their access to the respondents is identified
as :

. Random sampling

. Quota sampling

. Snowball sampling

. Convenience sampling
1) 1

(2 2

(3) 3

(4) 4

vffal (ITRardrei) @1 oTs ufidest o [Ne@drs @ ITRerarsil d@ 39! Ugd (RN & SR Jude]
g e, SUSHEUHAFI S ¢ ;

1. Urefws® uid=a
PRCLREIPICE R RERE
3. Hidrd vid=aH

4. gfqurie gid=a-

1)1
(2) 2
3) 3
(4) 4

B b =

.

1[Option ID=445]
2[Option ID=446]
3[Option ID=447]
4[Option ID=448]

Sl. No.113
QBID:1201013
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Which of the following are the steps in systematic review of literature?

A. Search for archival records

B. Define the purpose

C. Assess the relevance of selected studies

D. Identify the quality of each study

E. Interview the authors of each study selected

Choose the most appropriate answer from the options given below :

1. A, Band C only
2.B, Cand D only
3.C,Dand E only
4. A, Band E only

1

(2 2

(3) 3

(4) 4

fafaRad # ®17 Iigd 31 ouaiyd Hian § U STH ardd R0 g 2

A R Yohdl §q D4 (e

B. 330 P GRHINT BT

C. =0 U U el St YT dl effed o |
D. Y 37 i I0aT bl gl T |

E. Ydd a1 319 & dGh] Dl HIETHR |

Oy

i<l faU 7Y fap el H 9 968 Iugdd IR &I 99 Hifog :

1.$hdd A, B, C
2. $dd B, C,D
3.%dd C,D,E
4. $hdd A, B.E

1 1
(2) 2
(3) 3
(4) 4

1[Option ID=449]
2[Option ID=450]
3[Option ID=451]
4[Option ID=452]

Sl. No.114
QBID:1201014

Given below are two statements :

Statement I : Quantitative research lays emphasis on the generalisability of findings.
Statement II : Probability sampling does not generate a representative sample.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

)1

(2 2

(3) 3

4) 4
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e pyafeuug -

S 1 - GRATOTAS e GROmET (Fsah) B GHraaRuigd R ad ol ¢ |
Y 11 : U1 faaa 9§ $is ufaffs ufdes Tef Saa gidig |
JWRIET DU & 3Tl H, Aid faU 78 fadhedi § 9 Ygl 3R &I 99+ IOl ;

1. BYTIIR IS I g
2. HYTI AR I EHT 3T §
3. HYTI I ¢, AP BUTII 3 A ©
4. YT IET ¢, AfPT PUT I TA &
1) 1
() 2
(3) 3
4) 4

1[Option ID=453]
2[Option ID=454]
3[Option ID=455]
4[Option ID=456]

Sl. No.115
QBID:1201015

Given below are two statements :

Statement I : In probability sampling, it is not necessary that all the members of population have an equal
opportunity to be the part of the sample.

Statement II : Non probability sampling method is not a fixed or predefined selection process.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement II is true
1) 1
(2 2
(3) 3
4) 4

el pyafiuug

HYA [ : UTihdl Uiada- H I8 3193F el o 1 oHa@ & 94t Texdi I ufde § 994 9 4 id gH
BT AW U ol |

HYT 11 : TR-FIEar Uia=aT [afe ue (9T srar gd-uRHIYd 9a- Hishdr 1e1 ¢ |

IR HU b 3Tl H, Fid ST MU fabedi & 9 gl IR &l 999 Hifofu ;

1. HYTIAR IS I &
2. HYT AR I AT 3T §
3. HYTIA 6. dfbT YT I 3T &
4. YT T ¢, AfPT PUT I A &
1) 1
2) 2
3) 3
(4) 4

1[Option ID=457]
2[Option ID=458]
3[Option ID=459]
4[Option ID=460]

Sl. No.116
QBID:1201016
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Language for communication is a product of :

. Laboratory simulation
. Religious affiliations

. Everyday life

. Elitist preference

1) 1

) 2

3) 3

(4) 4

HUNor & fere yiw fAgifed | 9 feogdT teh Iare (aiRon) g 2

1. JONTRITAT 3R]
2. i ddeH
3, eHfe Sffaq
4. ST a3l
1) 1
2) 2
(3) 3
4) 4

W I =

=

1[Option ID=461]
2[Option ID=462]
3[Option ID=463]
4[Option ID=464]

Sl. No.117
QBID:1201017

By creating a bunch of expectations, mass media induce which of the following among audiences:

. Professionalism

. Preference for corrupt practices
. Political positivity

. Self-fulfilling prophecy

)1

() 2

(3) 3

(4) 4

%?Hig{ YT DI I (o) B YR HIEH HIGHITSAT) e=il/giarsi # Faifed # 9 Fa1 URkd
DPAB 2

1. AGHIADdT
2. Y¥ HdgRI gd adgdr
3. YoiHITd® JPRIASD]
4. 3MH-YTAABRI Hidgaruif
1) 1
(2) 2
3) 3
(4) 4

W I =

o

1[Option ID=465]
2[Option ID=466]
3[Option ID=467]
4[Option ID=468]

Sl. No.118
QBID:1201018
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Human communication involves which of the following factors ?

A. Building symbols

B. Using symbols

C. Manipulating symbols
D. Exclusion of Culture
E. Non-use of symbols

Choose the correct answer from the options given below:

1. A, Band C only
2.B, C and D only
3.C,Dand E only
4. A, CandE only

1)1
(2) 2
(3) 3
4) 4

g GUN0r § FEfaiad &HF-9 SRS MHA 8 g 2

A. di®! &1 A & |
B. Ydiichl &1 TN AT |
C. Udich] BT g3-UR

D. WH{d BT 3Tqei

E. Uciibl BT TR-YART

i fau U A el | 9 Ul IR &l 99 Hiflu ;

1. $Fdd A, B, 3R C
2. $Had B, C, 3[R D
3.%ddC, D, 3R E
4. FaA A, C, 3RE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=469]
2[Option ID=470]

3[Option ID=471]
4[Option ID=472]

Sl. No.119
QBID:1201019

Given below are two statements :

Statement IT : Language defines and communicates the world around us.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

)1

(2 2

(3) 3

4) 4

localhost/ntareportsqp/qPprint.aspx

Statement I : Communicative language is the means of transmission of our values and social norms.
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e pyafeuug -

DY T : GUTUTED HIN SHR Hedl Td AT AHG] & gedl=R0l ST T |
HYT 11 ; HINT GHR 3T-YI ] g /=11 &bl URHINT Td ST Bl ¢ |

JWRIGd HY & 3MTcll H, =i fGT MU [dhetl H T Agt IR &1 981 DI :

1. BYTIIR IS I g
2. HYTI AR I EHT 3T §
3. HYTI I ¢, AP BUTII 3 A ©
4. YT IET ¢, AfPT PUT I TA &
1) 1
() 2
(3) 3
4) 4

1[Option ID=473]
2[Option ID=474]
3[Option ID=475]
4[Option ID=476]

Sl. No.120
QBID:1201020

Given below are two statements :

Statement I : Communication can create a 'feel good' factor among receivers.
Statement IT : Communication can be used as an instrument to divide and alienate the receivers.
In the light of the above statements. choose the correct answer from the options given below :

. Both Statement T and Statement II are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
11
(2) 2
3) 3
4) 4

BIERACAIC AR U

HY L : YOI Ui # <@g Hf (PIATs) PRE I $R bl g |

DY 11 : HUNUT BT IYGNT UTtdeb i 31l bl dlc Ud R DR g Uob HIY o &Y H bl off Febell g
SURIGd BYF b 3Tl H, i< ST U [gbedi # 9 Ggl 3R &1 90 Bifoig -

1. HYFIAIR IS I g
2. HYTI AR I GHT 3T §
3. HYT I ¢, Afb T YA I 3T ©
4. FYTI I ¢, AlpAHYT I gA ©
1) 1
(2) 2
3) 3
4) 4

W I =

=

1[Option ID=477]
2[Option ID=478]
3[Option ID=479]
4[Option ID=480]

Sl. No.121
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Consider the series given below :
=830 2- 8,15, P55 (),

The values of P and Q i.e. (P.Q) are

5.5 0.5 4 5P 50

P 3R Q & A 314d (P, Q) RTBI?

Jo d I =
,-\,-\T,-\
0]
|
J
o

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=481]
2[Option ID=482]

3[Option ID=483]
4[Option ID=484]

Sl. No.122
QBID:1201022

10 persons can cut 7 trees in 14 days. In how many days can 16 persons cut 12 trees?

1. 16 days
2. 13 days
3. 15 days
4. 12 days

1) 1

(2) 2

(3) 3

(4) 4

10 e 7 Ui @ 14 f&T § Hre UPbd § | 16 Afad 12 Ui &I fhad i H dre adbd @ 2

—_
W ON

7393

=
]

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=485]
2[Option ID=486]

3[Option ID=487]
4[Option ID=488]

Sl. No.123
QBID:1201023
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The average age of a family of 5 members, three years ago, was 17 years. Inspite of the birth of a child in the
family during these 3 years the present average age of the family remains the same. What is the present age of
the child ?

ears
ears

years
years

2
3
2.

3

L o T
o e

o
n

1)1
(2) 2
(3) 3
(4) 4

i oy gd 5 gl & U URaR &l 2{1d 3y 17 a¥ i g diH a9 &l s A URAR At s b STH D
gTd Yl YRAR &1 IdHM 31d 1] dgl a1 g4l ¢ | 9= &I aadH A Al g 2

(S o I
LI S ]
R

44

B

1) 1
(2) 2
3) 3
4) 4
1[Option ID=489]
2[Option ID=490]

3[Option ID=491]
4[Option ID=492]

Sl. No.124
QBID:1201024

Find a single discount equivalent to two successive discounts of 10% and 20%.

.27%

. 28%

. 30%
.25%

(1) 1

(2) 2

(3) 3

(4) 4

10% 3R 20% P1 Gl hi¥P Fel &b SRIE Thd Fe J1d P ;

b I =

=

-

b bl —
(PO T NS I L ]
g

th © ©o ]

o © o

s

o]

=
=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=493]
2[Option ID=494]

3[Option ID=495]
4[Option ID=496]

Sl. No.125
QBID:1201025
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A person walks 30 meters North, then turns right and walks 30 meters. He then turns right and walks 45 meters.
Then he turns left and walks 15 meters. Again he turns left and walks 15 meters. In which direction and how far

is the person from his starting point ?

.45 meters, west
. 35 meters, east
. 35 meters, west
. 45 meters, east
1)1
(2) 2
(3) 3
(4) 4

Ueh Afe 30 Hiex IR D 3R Fafdl . e a1t 3k Y51 & 3R 30 Alex Iadi 8 | I8 fthe arfe+it 3k
Hgdl g HR 45 Hiex Iadi ¢ | i 98 91t 3R J8dl ¢ 3R 15 Wik 9ddi ¢ | UhdR R 91 iR gedi g
3R 15 Hiex Tadr g | 39+ AR fog O oufad fvat X SR fha fazn # g

.45 Hiex, ufgw
.35 Hiex, ud
.35 HleR, ufgH
.45 Hiex, gd

1) 1
(2) 2
3) 3
(4) 4

LUV o

B

L O R

I

1[Option ID=497]
2[Option ID=498]
3[Option ID=499]
4[Option ID=500]

Sl. No.126
QBID:1201026

Which informal fallacy is committed in the following statement - "Of course you want to buy XYZ toothpaste.
There must be a reason, why, 90 per cent of India brushes with XYZ toothpaste"

1. Slippery slope
2. Hasty generalization
3. Argumentum ad populum
4. Strawman Fallacy
1) 1
(2 2
(3) 3
(4) 4

RIRIT oA H DI HITEIRD Teh-aly g - 319 g U U XYZ TUUE P10 HA1 =I6d ¢ |
Riifds [l HRUERN HRA H 90 WARIT AR XYZ TUURT U §=T B G 2

1. T g eaM (Raudl %)
. Hfq=r g
AGIEAREEREN]
4, 9 Yeell (ETH) ddb-aly
1) 1
() 2
(3) 3
(4) 4

[N I

1[Option ID=501]
2[Option ID=502]
3[Option ID=503]
4[Option ID=504]

Sl. No.127
QBID:1201027
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Which of the following statements is logically equivalent to the statement - "All women are honest human
beings"

. Some women are non-honest human beings.
. Some honest human beings are women.

. Some women are honest human beings.

. No women are non-honest human beings.
11

2 2

(3) 3

4 4

FRfRET H 9 11 B difde &9 U 39 HYU- & GHade ¢ - “TH] AGA SHHAGR AMd § 17

1. 9% AGAY TIR-GAMGR AFA § |
2. $B SHMER HHd Afgand g |
3.@3@@‘@?@3 Tl
4. Pis N AT TR- SAFMSR AT T8I § |
1) 1
) 2
(3) 3
4) 4

=

I

1[Option ID=505]
2[Option ID=506]
3[Option ID=507]
4[Option ID=508]

Sl. No.128
QBID:1201028

Which of the following statements is contradictory to the statement - "Some birds are mammals"?

. Some mammals are not birds.
. Some birds are not mammals.
. Some mammals are birds.

. No birds are mammals.

11

(2) 2

(3) 3

) 4

AT & A I8 DU 38 HU - P Ul TIURI § 1 1 A 82

1. O WU, gel A |
2. P Ul TWHURI 51 § |
3. 90 WHYRL, T&f § |

4. g 1l gail U T8 8 |

1)1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=509]
2[Option ID=510]
3[Option ID=511]
4[Option ID=512]

Sl. No.129
QBID:1201029

If the statement - "Some animals are not birds" is given as false, then which of the following statements can be
immediately inferred to be false?

1. All animals are birds.
2. No animals are birds.
3. Some animals are birds.
4. Some animals can fly.

localhost/ntareportsqp/qPprint.aspx
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1) 1
(2) 2
(3) 3
(4) 4

ie S IR - “Ho U Ul T8l 8~ Pl A & wU H feur 71 g dl Ferfafad # 9 fog dyd s ar d
AT Ticid FY Y 3 Gl BT A [l S ghal1 g 2

1. oo uefi § |
2. 18 it g el T |
3. PO UYUER T |
4. DB UY IS Yhd g |
o 2
3) 3
(4) 4
1[Option ID=513]
2[Option ID=514]

3[Option ID=515]
4[Option ID=516]

Sl. No.130
QBID:1201030

Given below are two statements :

Statement I : Indian logic treats induction and deduction as separate processes.
Statement II : Indian logic does not reject the verbalist view of logic.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
3) 3
4) 4

e pyafeuug -

DY T : YR Th AR 3TTHA 3R FAT0 B g Wb AT ¢ |

HYT 11 : R AR, THRIR o Mfecidp SPHIUN Bl [FRE 16l PR G |
SWRIFd BUA & 3Tl H, A< [$T MY [dhedl # 9 a8 I9gad IR BT 9 DIfoTg -

1. YT IR ISl Ul &
2. FUTIAR M EHI Tad &
3. HYF [ el g, dibd U I &
4. FUT 1A g, Al YA 11 el &

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=517]
2[Option ID=518]
3[Option ID=519]
4[Option ID=520]

Sl. No.131
QBID:1201031
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An Indian company designs a mobile application to process staff records. In each record, 10 bits are used to store
staff ID and 20 bytes are used to store staff names. How many staff records can the mobile application support?

Ui ba

| S T o T N T
[FE T ) =
[ ] [ =

[ ST )

e

1)1
(2) 2
(3) 3
(4) 4

Uh HRAIT DUl P & NGl I JIied H & [T Aldd TEhRH &l 3iHded dUR Hdl ¢ |
U 3HYeRd H wI% & UgdH YA & HSRUI & AU 10 [de 3R ®IH & M J994 & o8 20 d15¢ BT YIRT
fParSIar g | I 9a1¢ fh AieEd Tkiid e | fdhaq 7Th &, Afed iafdy sl I@d & -

—
[

S O R
—
[ Se]

[T S B S R o |

(%] =
[ ST )

B

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=521]
2[Option ID=522]

3[Option ID=523]
4[Option ID=524]

Sl. No.132
QBID:1201032

The action of sending text messages to fraudulently obtain another person's Bank details is called:

. Phishing

. Pharming

. Spamming
. Smishing

1) 1

() 2

(3) 3

(4) 4

DHYCYdP bl 3= Al DI dehDbRI RT U DR o (1T TSI H=T U - Pl feba dgardl 6 ;

1. TR IRAT

I

T
4. SR

1) 1

2) 2

3) 3

4) 4

b I =

=

[T ]

1[Option ID=525]
2[Option ID=526]
3[Option ID=527]
4[Option ID=528]

Sl. No.133
QBID:1201033
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What are the main benefits of using an SSD rather than an HDD?

A. SSD uses spinning disks and is thus more reliable.
B. SSD is considerably lighter and has a lower power consumption.
C. SSD accesses data considerably faster.

Choose the correct answer from the options given below :

1. A and B only
2. Aand C only
3. B and C only
4.A,Band C

1

(2 2

(3) 3

(4) 4

HDD &1 §oiTd $SD Wil R+ & {3 A4 1 G -

A. SSD H guiq dfchep (U &%) BT UTNT 8Idl & 3R 39 UbR Ug (P f[dya-ia g |

B. $SD dgd 3 gebl gldl ¢ 3R 3GH f[dggd &l dH @I BIdl © |
C. SSD H §gd duil 9§ &< (STel) ®I HRH I ¢ |

Hid fau e fasedi | I gl 3R &I 904 DI ;

1. $9d A 3R B
2. Fad A 3R C
3. HFAAB 3R C
4. A, B3R C

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=529]
2[Option ID=530]
3[Option ID=531]
4[Option ID=532]

Sl. No.134
QBID:1201034

Match List I with List IT

LIST I (Statement) List IT (Value)
Number of bvtes formed from & bits I |6
[Base-10 (denary) value of the binary number - 110 | II. |4

e o

If there are 2F bytes in 1 mega byte, then what 1s mr
" fthe value of P ? )
IAn ISP company advertises its broadband download
speed as 128 mega bits per second. How many 4- v bo
" Imega byte files can be downloaded per second ’
using the company's broad band?

Choose the correct answer from the options given below:

1. A-III, B-IV, C-I, D-II
2. A-II, B-1. C-IV, D-1I1
3. A-III, B-1. C-IV, D-II
4. A-IV. B-I11. C-1. D-II

(1) 1

) 2

(3) 3

(4) 4
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G 11 gl 119 e Sifon

T 1 @) “1;;,]}1
A | s foe 4 A age @ 9= L| 6

B. |Gyl T 110 BT §9-10 GMYRH A | IL | 4
;ﬁlmﬁfﬁﬂﬁi’%’?ﬁpﬁﬂﬁﬁzﬂ s g

Dl ATZUHY! BUAT 0 G910 J adrl &
b Sg@ dled e Sre-als Wis 128 AMfae
D. Ufd YPUs & df HUl & slsss &I W d IV. | 20
U UHUS 4 TTERe & [dd-] Bl
SI3-dIs @ W HEal & |

frgfafad faeedl J O 98l ST &1 94 SIfu -

1. A-ITT B-1V, C-1, D-IT
2. A-II, B-1, C-1V, D-III
3. A-IIT, B-1, C-IV, D-1I
4. A-IV, B-11, C-II, D-II

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=533]

2[Option ID=534]

3[Option ID=535]
4[Option ID=536]

Sl. No.135
QBID:1201035

Given below are two statements :

Statement I : Entries in blogs are organized from most recent to least recent.

Statement II : Hits are the number of occasions where key words in a search engine match up with
websites/web pages.

In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1) 1

(2) 2

(3) 3

4) 4

CIERAEZIC A G EE
HUA 1 - s H ufafPal &1 gy gaifies 94 9 eaaq a4 & HH § e Srarg |

HY 11 : bl O SR & Blas 1 T o IR dewge / das & wry GAfid gidl ¢ a8 fge deand
e |

In the light of the above statements, choose the correct answer from the option given below :

1. HYT IR PYTIEH T § |

2. FYFI AR HUA I I A § |

3. HFYF 1A g Albd PYA T A © |
4. FUFI NI AP FUHA I TG |

1) 1
) 2
3) 3
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4) 4

1[Option ID=537]
2[Option ID=538]
3[Option ID=539]
4[Option ID=540]

Sl. No.136
QBID:1201036

Given below are two statements :

Statement I : Most of the hazardous landslides are induced by earthquakes.
Statement IT : All landslides involve falling of earth material under shear stress.
In the light of the above statements, choose the correct answer from the options given below :

. Both statement I and Statement II are true

. Both Statement I and Statement II are false
. Statement I is true but Statement IT is false
. Statement I is false but Statement II is true
11

(2) 2

(3) 3

4) 4

el pyafeuug

DY : YD TARAID Yo, Yebul ¥ HURTBIA © |

DY 11 : GHT HEEAA! H YT §1d & S d H-AHE & [TRAT Ul Sl g |
SIS HY & 3MTcllp H, =i [T MY fdhetl # T A5t IR &I 981 DI :

1. PYT IR I ad 8
2. HYF AR I GHT AT g
3. HYT I §. A BYT 11 3 A ©
4. YT AT . AfPT YT I TA &
1) 1
(2) 2
(3) 3
4) 4

b I =

=

1[Option ID=541]
2[Option ID=542]
3[Option ID=543]
4[Option ID=544]

Sl. No.137
QBID:1201037

Given below are two statements :

Statement I : It is relatively easier to monitor and regulate water pollution caused by nonpoint sources than point
sources.

Statement II : Nonpoint sources of water pollution may be fairly uniform and predictable throughout the year.
In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

4) 4
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e pyafeuug -

DY 1 : fdg Fidl &1 U IR-fdg (1 Wige) Tidl ¥ 3@d g didd oid UGl & (RHET (@ Hier) ud
[RIZT0T SBRAT SUENPHd AR § |

DY 11 : STAUGH & TR-fdg (A1 Wige) Fid gui =08 U HM 3R g a8 Ydi-Hg g1 9hd g |
SWRId DY b 3Tl H, 1 fT U fdhedi # 9 Ggl 3R &1 989 iy :

1. HYTIAR IS I §
2. BYTI AR NI SHl e &
3. HYT I 6. dfbT YA I 3T &
4. FYTI I G, AfPAFUT I I ©
1) 1
2) 2
3) 3
4) 4

1[Option ID=545]
2[Option ID=546]
3[Option ID=547]
4[Option ID=548]

Sl. No.138
QBID:1201038

Given below are two statements :
Statement I : By 2025, two-thirds of world's people will be living in water stressed countries.

Statement II : Growth of water withdrawal and consumption in Industrial sector is going to overtake that in
Agriculture sector by 2025.

In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement I is false
4. Statement I is false but Statement II is true

11

(2) 2

3) 3

4) 4

BIECIERIE LRI

HY 1 : fa8 SRiRE & al fders dT ay 2025 dF, STd-3HIaUd ol A | I ol |

DY 11 : AP & H Sa-Gle1 (MbRi) 3R 39 IuHNT H dfs. 99 2025 db HiNa H glard Iuar]
Y 3{iedm g oGl 6 |

IRIFI HU D 3Tl |, i faU MU fabed] & 9 el IR DI 999 HIfU ;

1. HYTIAR IS I §
2. BYTI AR NI SHl e &
3. HYTI I g, Al BUTII 3 A ©
4. FYTI I G, AfPAFUT I I ©
1) 1
2) 2
(3) 3
4) 4
1[Option ID=549]
2[Option ID=550]

3[Option ID=551]
4[Option ID=552]

Sl. No.139
QBID:1201039
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:

Assertion A : Kyoto Protocol exempted countries such as India and China from rolling back their Greenhouse
Gas emissions by about 5% below 1990 levels by 2012.

Reason R : Exemption was given to India and China as their contribution to total Green House Gas emissions of
the world was insignificant in 1997.

In the light of the above statements, choose the correct answer from the options given low :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A s true but R 1s false
4. A s false but R is true
)1
(2 2
(3) 3
(4) 4

19 ST PUA ST § : U SHHBHU (Assertion A) P &Y H [T ¢ Al GERT 3HD HRUT (Reason R) B &Y
ff.

FUDHYA A : I UICIDIa ° HRA AR = S <=1l Bl 37 gRI 6T &M ard gRd 78 (UF 8139) 9
Il H aY 2012 T, 1990 & R Y 5% A< HH [hT S & afe 7 Fe Ui ot |

PRUIR : HRd HR = Dl dg Fe SHIT Uar $i 7l 20t Fiifb 9% o1 o gRd g 19 I H 37
G 9y 1997 H §gd HH (HgdolH) oI |

SWRIGd DY & 3Tcdld H, - 4T MU [ddhedl # 9 Tgl 3R &I 991 iy ;

CA3RR A 9T § 3R R, A DI Ul AR &
 AJRR NI T, AfBTR. AP Gl ARAT ST ©
AT g, dfPIR 3T ©

AEI T, APIRIA T
1) 1
() 2
3) 3
(4) 4

L O R

i

1[Option ID=553]
2[Option ID=554]
3[Option ID=555]
4[Option ID=556]

Sl. No.140
QBID:1201040

Sources of heat of geothermal energy are

A. Radioactive decay of unstable elements
B. Nuclear fusion

C. Magma

D. Temperature gradient inside earth

E. Oceanic circulation

Choose the correct answer from the options given below :

1. A, B and C only
2.B, C and D only
3. A, Cand D only
4. C,D and E only

1

(2) 2

(3) 3

(4) 4
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YA ol I I H Hd g -

A. SR Il D1 ASTIhT &
B. ¥ Jag

C. A

D. Jedl & 3f-<X dTqHT Ygurd]

E. HeITRIY Ikl
I 3T 71U [agadl # O el IR &1 994 Do :

1. FGd A, B3R C
2. $Had B, C 3R D
3. Fad A, C 3R D
4. $adC, D3R E

(1)1
) 2
(3) 3
(4) 4

1[Option ID=557]
2[Option ID=558]
3[Option ID=559]
4[Option ID=560]

Sl. No.141
QBID:1201041

According to NEP 2020, which of the following will not be the function of National Educational Technology
Forum (NETF) ?

. To envision strategic thrust areas in educational technology

. To build intellectual and institutional capacities in educational technology

. To provide grants for setting up educational technology centers in central government institutions
. To articulate new directions for research and innovation in educational technology.

L R

.

(1)1
) 2
(3) 3
(4) 4

Tt fR1& A 2020 & STER, FafaRad # 9 SH-91 AP Aldib YIB! BRA (TR 1U%) BT SR T8l
BT 2

1. QU&f0reh UIeiiTest # Y0ifaes THw & R fa=R & |
2. Qeffores Wienfiiest | dlfgd vd GeuiHe mdisi &1 i B |
3. Do ERXHRI G H aifred Uit Sl b1 R B g S S |
4. Qeffore Ureniiest § /MY Ud 7aT€R 3q A4 FRi &1 oaReat a1 |
o 2
(3) 3
4) 4

1[Option ID=561]
2[Option ID=562]
3[Option ID=563]
4[Option ID=564]

Sl. No.142
QBID:1201042
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National Skill Qualification Framework (NSQF) is a competency based framework that organizes all
qualifications according to a series of levels of

A. Knowledge
B. Understanding
C. Skills

D. Attitude

E. Aptitude

Choose the correct answer from the options given below :

1.B,D and E only
2. A, CandE only
3.B. C and D only
4. A, B and D only

1

() 2

(3) 3

4) 4

Y1 IS Il shHdh (TTUHRIUD) Uh &N TR hHdD ¢ Sl b, FMuifhd oy &R &t g &
TR Gl Arsfi 1 Gifdd ddi g |

A QA

B. §HA
C. PRI

D. 3ffHafx

E. 3fI¥&dr

i 3T 7Y fdep el | 9 96 Iugdd IR &I 99 Bifog :

1. $ad B, D, 3R E
2. FAd A, C, 3R E
3. Had B, C, 3R D
4. A A, B, 3D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=565]
2[Option ID=566]

3[Option ID=567]
4[Option ID=568]

Sl. No.143
QBID:1201043

What is the full form of NHERC?

. National Higher Education Review Council
National Higher Education Repository Council

. National Higher Education Regulatory Council
National Higher Education Regulatory Complex

LI S I

=

1) 1
(2) 2
(3) 3
(4) 4
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U R 61 gUf U A1 § 2

1. A%d §R U R I3

2. A=A R T Rulfvredt srafia
3. TR TR TG R Wgaied] pIdfid
4. A TR TG h I WA dlirddy
1) 1

() 2

(3) 3

(4) 4

1[Option ID=569]
2[Option ID=570]
3[Option ID=571]
4[Option ID=572]

Sl. No.144
QBID:1201044

Who among the following gave us the names of the twelve divisions of the solar zodiac and whose calculation of
the earth's circumference was not off the mark?

1Svarakrsna

Aryabhata

Bhaskaracarya
4. Brahma Gupta

1

) 2

3) 3

(4) 4

afaRad # 9 fa 9R AR (@R Sifeae) & 12 YT &1 AHSR0] fhar 3R S gRI S Tt gedi o
GRS 1 701 9 giH & e ot 2

1. R
2. 3Ye

3. YR
4. IR

1) 1

(2) 2

3) 3

4) 4

1
2,
3.

1[Option ID=573]
2[Option ID=574]
3[Option ID=575]
4[Option ID=576]

Sl. No.145
QBID:1201045

Following the recommendations of which of the following Committee the Central Advisory Board of Education
(CABE) was revived in 1935 ?

1. S H. Wood Cominittee
2. Hartog Committee
3. Wood-Abbot Committee
4. Sadlar Committee

11

(2) 2

3) 3

4) 4
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frofafad fra aftfa &1 Ixgf & oMuR R H=ig R gaesr 916 (Ies) & af 1935 7 g7 =1
fepa T 2

1. TY. T4 48 9Hfd (dHd)
2. greiv gfafd
3.93 - Udic gfafd
4. YSer giifd
1) 1
(2) 2
3) 3
4) 4
1[Option ID=577]
2[Option ID=578]

3[Option ID=579]
4[Option ID=580]

Sl. No.146
QBID:1201046

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

“f= faw 7T Treriwr 1 ufdu SR Uy &1 Iugad IR SIS :

Ui dae sfcr famsid - serid SR & &R afftdaun o1 o dig sirei=H1 & forg f[qweand ¢ |
SYPT (IR 39, 21801, SHo7l 9 | uRded d@ U1l S & Uaa-d & WHIa! Bl [diaiaul R diiE
ST & FAHRUVGE I ABR AT i 3R Ioifa® wHdl & Te, 1 961 ¥ | 3791 a7
BR HHIAIRAET H ID1 3 SATeia-1131 BT R Ukdd (a1 741 g d Aei-lidd =P & HeH oY - Sl
o fq-TIgRited Tredi & gAHamT & U § Saiferd 3 | 3 g9 (o fq-iexiiedr Wsa widaried foar |
g gD HD PIel &b IUUER & FY H ATeqH1 & 1 ferdl 1t At | 39 Uies ¢ 4R g 2t fs
[IYe TG BT IAd TR (B! YHIS H IHD ¥4 o [d-11=] o] HReb Ual BRI © | 37| H¥d AR
IdIG & e Iadre dfd d Hdferd ot | 3% 2edl & 41 &gl fb U fdg & a1 sfienfis
JUDHU S 3R UGidRUT bl &ifd =TT | Yol Wdlsdl H 3ol & Glg- & 1Y HIferd e o1 ¥dd &R0l
RY 1T | SHP ATal GO 3R RM & diesnvl I 34 3R 9 [ off e wifd & 9y ad gaf
| ST 2rdred] # 9= d I & IuHRu ol UIelfihdl & gt 8 GATS H1 YEeiRE-1 o1 SR guf
g |

What was the criticism of Illich on expert-based institutions?

1. Non-professionalism in sectors like medicine and transport
2. Too much expertise in the field of education
3. Adverse effects of feminization of work
4. Danger to economic progress.
1) 1
() 2
(3) 3
4 4
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AN - SeTiRd =T R Zferd Bl S di 2

1. 3{NIE 3R ulkded oI &F] § TR-aarauriasdd
2. TR1en & & o 9gd 1fie fa=wsran

3, BRI & T ICHIBR] b i UHIG

4. 3Tde WTid I G

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=581]
2[Option ID=582]
3[Option ID=583]
4[Option ID=584]

Sl. No.147
QBID:1201047

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book. tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

A= fou 7Y Tefie 1 ufeu 3R Y DT Iugad IR aiford ;

gfafRd oad sford IRy - SMeTid SR & &ifdd AT P 391 T M= & fore fdend © |
SUPT AR 3ATe, R1af, 3oll U A= iag- db Ul BT & Yaad & UHTE! B [aiadadol 3R dfT®
oS & IIAIBRUIAGE J A AfGarTd i 3R IsHITa® S5l & Gg, 1 el 4 | 391 s 7
BR AT T 3BT 3 a3 BT YR Udd (a1 741§ d Aiidd =P & He oY - Sila
o [aTieRiTe H1erH! & YAHHTUN & U H Wi o | 3gi- 39 (oY fa-ie=iidaar 2rsg widaridd o |
g G D Plel b SUHER & FY H SATH=d & A1 ferdl Tt 4t | 38 Uiy ¢ YR 4g 4 fb
a9 ST 1 3Ad <RI fob il IS T I T o [d-1=1 &1 DR U Bl © | I7D! BT HTURUN
IdIG & AeNfiD g e Afd 9 Yaferd off | 3% 2gar & 1 &gl fb U fog & a1e afielfiis
JUBHU S 3R UidR0T bl &ifc Ug=Tadl | Forgdi Qdlsd] H 3ol & GIg- & J1 Jlferd e o1 Fdd &R0l
SRH BT TR | $HP 3{ATal GHY 3R RIM & GigShv] U 34 R g e oif SAeiiies Hifd & Ty gad gof
| ST 2rcTsdl H =i d T @ IUDRON ol UEiihdl & TgaiT W FATS B GUR=-1 61 B gui
gof |

His critiques were set in the context of;

1. Global historicity
2. Convivial modes of living
3. Self-degradation
4. Ethical norms
1
(2 2
3) 3
(4) 4
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3% gATAEAE feg dey 7 off 2

L. S ey
2. Sitad &1 faaieeia Jfaar
3. ¥9-3{dhHU
4. Afq®d ArFcs

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=585]
2[Option ID=586]
3[Option ID=587]
4[Option ID=588]

Sl. No.148
QBID:1201048

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book. tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

<f1= faw 7T Treriwr 1 ufdu SR Uy &1 Iugad IR SIS :

Uiaf8d W Sierd (ISR - e SRl & &fdPH YA B 3{U-! i SfTel=-1 & ot [ded g |
DT (IR 39, f218q1, STl U W= uRded a@ UTl B & Uaa- & WHIa! Bl (I iRiaol 3R dliid
ST & BRSO I AdR Al i 3R Ioifa® SHdl & Te, 1 el ¥ | 37! s 7
BR HHIAGIRIT H 3D1 3 SATela-1131 BT TR Ukdd [l 71 g d Asi-lidd =P & HeH oY - Sl
o f-TIgRite Treadl & gAHamT & U § Saiford 4 | 35 39 (o fq-iaxiedr Wse widariad foar |
g gD HD DIl &b IUUER & FY H ATH=qH1 & 1 ferdl 7t At | 3 Uies ¢ 4R ug 2t fas
a9 ITE BT IAd <RI [l GHIS H IHeb T o [A-1=] 1 DR UG Bl ¢ | I7D! HBI HIURUN
IdIG & e Iadre dfd d Hdferd ot | 3% 2edl & 41 &gl fb U fdg & a1 sfienfis
JUDHU S 3R UGidRUT bl &ifd =TT | Yol Wdlsdl H 3ol & Glg- & 1Y HIferd e o1 ¥dd &R0l
RY 1T | SHP ATal GO 3R RM & diesnvl I 34 3R 9 [ off e wifd & 9y ad gaf
| ST 2rdred] # 9= d I & IuHRu ol UIelfihdl & gt 8 GATS H1 YEeiRE-1 o1 SR guf
gofl |

What did Illich foresee in his book ?

1. Industrial Society's self-destruction.
2. More scope for mass production
3. Arrival of advanced industrial society
4. End to all struggles in the world

1) 1

(2 2

(3) 3

(4) 4
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Sferd = 3l g | fhgept gaiaur foar o1 2

1. 3TN IHTsT o1 W-faare
2. fage Id1e @i 3iftles HHIGTT
3, 39d NS THN &7 SHTHA
4. fay & gaft dunt &1 3id

1) 1

() 2

(3) 3

4) 4

1[Option ID=589]
2[Option ID=590]
3[Option ID=591]
4[Option ID=592]

Sl. No.149
QBID:1201049

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book. tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

<f1= faw 7T Treriwr 1 ufdu SR Uy &1 Iugad IR SIS :

Uiaf8d W Sierd (ISR - e SRl & &fdPH YA B 3{U-! i SfTel=-1 & ot [ded g |
DT (IR 39, f218q1, STl U W= uRded a@ UTl B & Uaa- & WHIa! Bl (I iRiaol 3R dliid
ST & BRSO I AdR Al i 3R Ioifa® SHdl & Te, 1 el ¥ | 37! s 7
BR HHIAGIRIT H 3D1 3 SATela-1131 BT TR Ukdd [l 71 g d Asi-lidd =P & HeH oY - Sl
o f-TIgRite Treadl & gAHamT & U § Saiford 4 | 35 39 (o fq-iaxiedr Wse widariad foar |
g gD HD DIl &b IUUER & FY H ATH=qH1 & 1 ferdl 7t At | 3 Uies ¢ 4R ug 2t fas
a9 ITE BT IAd <RI [l GHIS H IHeb T o [A-1=] 1 DR UG Bl ¢ | I7D! HBI HIURUN
IdIG & i Iadre dfd § Hdftrd ot | 3% 2¢dl & 41 &gl fb U fdg & a1 sfienfiis
JUHRT 5 3R GG Dl &ffd Gg=13T | GaAgd! Wdlsal H 3ol & alg & T i Tq1eEl &1 Tad &R0l
T B 7T | 35 A IHY 3R R & dig™hRul U 34 AR 9d a1 St i shifd & iy uad gaf
| ST 2rdred] | 9= d I & IuHRu ol Uielfihal & gt 8 GATS H1 YEiRE-1 o1 SR guf
g |

The consequence of Industrial Revolution are :

A. Damage to environment

B. Restricted use of energy

C. Conquest of time and space
D. Minimal use of resources.

Choose the correct answer from the options given below :

. A and B only
.Band C only
C and D only
.Aand C only

d= W b =
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(1) 1
(2) 2
(3) 3
(4) 4

STEfiTep shifcr & URUMA§ 2

A. TR0 B Gl

B. 3uil @1 ufqsfed o

C. 979 3R WH Pl fasy

D. 14T T ATH ST

Hid fau T fadhedi H I Tol 3R &I 98- DIIU :

1. Fad A 3R B
2. HadA B 3R C
3. $Had C 3R D
4. FaAA3MRC

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=593]
2[Option ID=594]
3[Option ID=595]
4[Option ID=596]

Sl. No.150
QBID:1201050

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

< Q7T Teqi=T &1 Uiy o7k Uy &1 Iudad IR GIou -

Ui d dae Sfer fa=esid - Serid =AM & &R affdcaun o1 oy dig sirei=1 & forg f[qwead g |
DI (AR 39, [218f1, STl ¥ ddhx uRded a@ U1l B & Uaa-d & WHIal Bl [Gaiaiaul 3R diE
ST & BRI AHR AfGaTTd i 3R o Sl & Te, 1 7e1 ¥ | 379! s T
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The inference from the passage is that:

. Specialized expertise is absolutely essential.
. An industrial society is a welfare society.

. Conviviality should have its own limits.

. Industrialization is highly beneficial.
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